UGC NET 2022 COMMERCE SH1

Topic:- 8_SH1_PARTA_S2

1)
Which one of the following is not the guiding principle of World Bank regarding
its lending operation?

1. Proper assessment of the repayment prospects of loans.

2. Lending should be only for specific projects which are economically and
technically sound and of a high priority nature,

3. The lending should be to enable a country to meetforeign exchange content
of the project cost.

4. The bank does expect the borrowing country to spend the loanin a
particular country.
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[Question ID = 4059][Question Description = 101_10_COM_SEP22_S4_Q01]
1. 1 [Option ID = 16233]
2. 2 [Option ID = 16234]
3. 3 [Option ID = 16235]
‘ 4. 4 [Option ID = 16236]

2)
Portfolio approach te investing is primarily focused on which of the following r
1. Diversification
2. Value protection

3. Return appreciation
4. Risk optimisation



e @1 U wIE surE FEtfer d S e o s diaa e s

[Question ID = 4060][Question Description = 102_10_COM_SEP22_S4_Q02]
1. 1 [Option ID = 16237]
2. 2 [Option ID = 16238]
3. 3 [Option ID = 16239]
‘ 4. 4 [Option ID = 16240]

3)
SEBI's ‘Skin in the game’ rule is'applicable to which of the following financial
intermediares ?

1. Merchant bankers
2. Financial Advisors
3. Mutual funds

4. Brokerages-
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[Question ID = 4061][Question Description = 103_10_COM_SEP22_S4_Q03]
1. 1 [Option ID = 16241]
2. 2 [Option ID = 16242]
| 3. 3 [Option ID = 16243]
4. 4 [Option ID = 16244]

4)
Concentration of all marketing efforts on a small but specific and well defined
segment of the population is called

1. Niche marketing
2. Franchising

3. Ambush marketing
4. Viral marketing
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[Question ID = 4062][Question Description = 104_10_COM_SEP22_S4_Q04]
1. 1 [Option ID = 16245]
2. 2 [Option ID = 16246]
3. 3 [Option ID = 16247]
4. 4 [Option ID = 16248]

5)
A company does net include the value of skills gained by its-employees from
training programmes in its annual financial statements, Which one of the
following accounting concepts is being applied in this case?

1. Going concern concept
2. Mongy measurement concept
3. Revenue recognition concept
4. Business entity concept
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[Question ID = 4063][Question Description = 105_10_COM_SEP22_S4_Q05]
1. 1 [Option ID = 16249]
2. 2 [Option ID = 16250]
3. 3 [Option ID = 16251]
4. 4 [Option ID = 16252]



6)

The information with respect to a company is:

EBIT = T 35 lakhs

15% Term loan= T 50 lakhs

Working capital term loan from bank @ 20% = % 30 lakhs
10% Preference share capital = 3 10 lakhs®

Public deposits accepted @ 14% = I 15 lakhs

Which one among the following is the Interest Coverage Ratio for the
company?

1.045
2.188
3.2.24
4. 2.59
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[Question ID = 4064][Question Description = 106_10_COM_SEP22_S4_Q06]
1. 1 [Option ID = 16253]
2. 2 [Option ID = 16254]
| 3. 3 [Option ID = 16255]
4. 4 [Option ID = 16256]

7)
Which section of the Indian Companies Act, 2013 among the following,
provides for the appointment of first auditors by the Board of Directors: within
one month of the date of registration of the company?

1.139(2)
2. 139(6)
3. 142(1)
4, 142(2)
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[Question ID = 4065][Question Description = 107_10_COM_SEP22_S4_Q07]
1. 1 [Option ID = 16257]
\ 2. 2 [Option ID = 16258]
3. 3 [Option ID = 16259]
4. 4 [Option ID = 16260]

8)
When the incoming partner cannot bring premium for goodwill, then the
necessary adjustment for gaodwill is dene through which ene of the following?

1. Goodwill account of the partners

2. Capital accournit of the new partners

3. Balance sheet of the new partnership firm
4. Profit & Loss Appropriation account
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[Question ID = 4066][Question Description = 108_10_COM_SEP22_S4_Q08]
1. 1 [Option ID = 16261]
2. 2 [Option ID = 16262]
3. 3 [Option ID = 16263]
4. 4 [Option ID = 16264]

9)

Sweezy's kinked demand curve model to explain the price and output
determination relates to which type of marketstructure?

1. Parfect Competition

2. Monopolistic Competition
3. Monapoly

4. Oligopoly
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[Question ID = 4067][Question Description = 109_10_COM_SEP22_S4_Q09]
1. 1 [Option ID = 16265]
2. 2 [Option ID = 16266]
3. 3 [Option ID = 16267]
4. 4 [Option ID = 16268]

10)

Which one of the following is not the assumption for consumer behaviour
based an the Ordinal Utility Theory?

1, Rationality of the cansumer
2. Utility enly ardinally measurable
3. Satiety of demand

4. Diminishing marginal rate of substitution
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[Question ID = 4068][Question Description = 110_10_COM_SEP22_S4_Q10]
1. 1 [Option ID = 16269]
2. 2 [Option ID = 16270]
3. 3 [Option ID = 16271]
4. 4 [Option ID = 16272]

11)

When the price increase of a commedity is followed by increased total revenue,
which one of the following iz the price elasticity coefficient?

1. Zero

2. Equal to one
3. More thanone
4. Less than one
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[Question ID = 4069][Question Description = 111_10_COM_SEP22_S4_Q11]
1. 1 [Option ID = 16273]
2. 2 [Option ID = 16274]
3. 3 [Option ID = 16275]
‘ 4. 4 [Option ID = 16276]

12)
Which one of the following production functions is a long-term production

function?

1.Q=a¥bl=g?
2.Q=AK"
3.Q=a+bl+cl?=d?
4 Q=a+hbl
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[Question ID = 4070][Question Description = 112_10_COM_SEP22_S4_Q12]

1. 1 [Option ID = 16277]
2. 2 [Option ID = 16278]
3. 3 [Option ID = 16279]
4. 4 [Option ID = 16280]

13)
As per which ane of the following approaches, a firm finances a part of its
permanent working capital with short term financing?

1. Matching Approach

2. Conservative Approach
3. Aggressive Approach
4. Traditicnal Approach
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[Question ID = 4071][Question Description = 113_10_COM_SEP22_S4_Q13]

1. 1 [Option ID = 16281]
2. 2 [Option ID = 16282]
3. 3 [Option ID = 16283]
4. 4 [Option ID = 16284]

14)
Which one of the following approaches of capital structure pleads that debt

financing initially increases the value of the firm; however excess debt financing

beyond a particular point reduces the value of the firm?

1. Net Income Approach

2. Net Operating Income Approach
3. Traditional Approach

4. Medigliani-Miller Aparoach
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[Question ID = 4072][Question Description = 114_10_COM_SEP22_S4_Q14]

1. 1 [Option ID = 16285]
2. 2 [Option ID = 16286]
3. 3 [Option ID = 16287]
4. 4 [Option ID = 16288]

15)
Which of the following business would maost likely use job crder costing :

1. A brewery

2. An oil refinery

3. A company that makes frozen pizzas

4. A print shop that specializes in wedding invitations
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[Question ID = 4073][Question Description = 115_10_COM_SEP22_S4_Q15]

1. 1 [Option ID = 16289]
2. 2 [Option ID = 16290]

3.3 Oition ID = 16291

16)
A company has 10% perpetual debt of 31,00,000. The tax rate is 35%. Which

one of the following is the after-tax cost of capital assuming that the debt is
issued at 10% premium?

1.10%

2.591%

3.6.5%
4.7.22%
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[Question ID = 4074][Question Description = 116_10_COM_SEP22_S4_Q16]
1. 1 [Option ID = 16293]

. ption ID =
4. 4 [Option ID = 16296]



17)
While wandering in jungle, King Dushyant married Shankuntala as narrated in
the "Abhigyan Shankuntalam” . He gave her royal ririg which could serve her
identity when she would come to meet him, infuture. However, she had lost the
ring while going to meet him. When she arrived at Dushyant's palace; he failed
to recognise her as she did net had the ring.

Which of the following statistical error King Dushyant had committed in this
narrative 7

1. Type | error

2. Type [l error

3. Sampling error

4. Non - Sampling error
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[Question ID = 4075][Question Description = 117_10_COM_SEP22_S4_Q17]
| 1. 1 [Option ID = 16297]

2. 2 [Option ID = 16298]

3. 3 [Option ID = 16299]

4. 4 [Option ID = 16300]

18)

Which one of the following statistical identities are useful in comparing the two
regression equations based on different sample sizes 7

1. Coefficient of determination (%)

2. Coefficient of multiple determination (R?)
3. Adjusted R? (RY)

4. Logistic regression
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[Question ID = 4076][Question Description = 118_10_COM_SEP22_S4_Q18]
1. 1 [Option ID = 16301]
2. 2 [Option ID = 16302]
3. 3 [Option ID = 16303]
4. 4 [Option ID = 16304]

19) Which one of the following statements is false?

1. Arithmetic mean is used to measure the deviations in calculating standard

deviation due to its least squares property
2. 7- Score value of X' is the ratio between X' divided by mean

: e X
3. The coefficient of variation is calculated as follows : = % 100
a

4. Standard deviation can be equal to zerg in'some situations.
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[Question ID = 4077][Question Description = 119_10_COM_SEP22_S4_Q19]
1. 1 [Option ID = 16305]
2. 2 [Option ID = 16306]
3. 3 [Option ID = 16307]
4. 4 [Option ID = 16308]

20 2 ; 7 :
) Which one of the following expressions-is not correct to calculate the
coefficient of correlation between two variables?

Lxy
‘N.ox.oy

2.y (byx)(bxy)

Cov(x.y)
3 T

OOy

Cov(x,
i (x.y)

Ty s .ﬂ'}p
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[Question ID = 4078][Question Description = 120_10_COM_SEP22_S4_Q20]

1. 1 [Option ID = 16309]
2. 2 [Option ID = 16310

4. 4 [Option ID = 16312]

21 \Which one of the following is not true for Authority?

1. Itis'the legitimate right of a superior to command and compel his
subordinates to perform a certain act.

2. Itismostly well-defined, conspicuous and finite.

3. It can be delegated.

4. |t serves as a basis'of both formal and informal organizations.
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[Question ID = 4079][Question Description = 121_10_COM_SEP22_S4_Q21]

1. 1 [Option ID = 16313]
2. 2 [Option ID = 16314]

3. 3 Oition ID = 16315

22)

Which one of the tests measures the applicant’s, level of knowledge and <kill in
a particular job in which one he will be appointed?

1. Personality test

3. Interest test
4, Aptitude test
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[Question ID = 4080][Question Description = 122_10_COM_SEP22_S4_Q22]

3. 3 [Option ID = 16319]
4. 4 [Option ID = 16320]

23)
Which one of the following aims at the Task Dimension of organizational
change?

1. Broadening or harrowing span of contral

3. Impf{wi ng the efficiency of machines
4. Reallocating autharity
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[Question ID = 4081][Question Description = 123_10_COM_SEP22_S4_Q23]
1. 1 [Option ID = 16321

3. 3 [Option ID = 16323]
4. 4 [Option ID = 16324]

24)
Multicollinearity in the regression analysis is measured by

2. Homoscedasticity
3. Partial F-test
4. Durbin-Whatson statistic
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Mstion Description = 124_10_COM_SEP22_S4_Q24]

2. 2 [Option ID = 16326]
3. 3 [Option ID = 16327]
4. 4 [Option ID = 16328]

25)
Which one of the following distributions aptly describes the ownership of
income and property in a capitalist economy?

1. Normal distribution
2. Poisson distribution
3. F— distribution
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[Question ID = 4083][Question Description = 125_10_COM_SEP22_S4_Q25]
1. 1 [Option ID = 16329]
2. 2 [Option ID = 16330]

3.3 Oition ID = 16331

26)
The share capital of an RRE is subscribed by the Central Gavernment, State
Government and the Sponsoring Bank in which one of the following ratios 7

1. 40:40:20

3.50:35:15
4.60:30:10
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[Question ID = 4084][Question Description = 126_10_COM_SEP22_S4_Q26]

3. 3 [Option ID = 16335]
4. 4 [Option ID = 16336]

27)
Which one of the following is used for inteérnational money transfer?

1, RTGS
2. NEFT

4. IMPS
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[Question ID = 4085][Question Description = 127_10_COM_SEP22_S4_Q27]
1. 1 [Option ID = 16337]
2. 2 [Option ID = 16338

4. 4 [Option ID = 16340]

28)
Pricing practice of setting a price target and then developing a product that
would allow the firm to maximise total profit at that price is called :

AL Pﬁc_a:- ceiling

2. Price matchin‘i

4 Pﬁcing power
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[Question ID = 4086][Question Description = 128_10_COM_SEP22_S4_Q28]

1. 1 [Option ID = 16341]
2. 2 [Option ID = 16342]
3. 3[Option ID = 16343]
4. 4 [Option ID = 16344]

29)
Which one of the following pricing method is used in regulated industries?

1. Mark-up Pricing

2. Target-Rate-of-Return-Pricing

3. Econamic-Value-to-Customer Pricing
4. Campetitive Pricing
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[Question ID = 4087][Question Description = 129_10_COM_SEP22_S4_Q29]

1. 1 [Option ID = 16345]
‘ 2. 2 [Option ID = 16346]
3. 3 [Option ID = 16347]
4. 4 [Option ID = 16348]

30)
Which one of the following categories of customers are opinion leaders who

carefully search for new technologies that might give them a dramatic

competitive advantage?

1. Early Adopters

2. Innovators

3. The sarly majority
4. The late majority
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[Question ID = 4088][Question Description = 130_10_COM_SEP22_S4_Q30]
1. 1 [Option ID = 16349]
2. 2 [Option ID = 16350]
3. 3 [Option ID = 16351]
4. 4 [Option ID = 16352]

3 Which one of the following is not coordinated inthe Vertical Integration of

Integrated Marketing Cemmunications?

1. Pricing

2. Sales

3. Product development
4. Customer service
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[Question ID = 4089][Question Description = 131_10_COM_SEP22_S4_Q31]
| 1. 1 [Option ID = 16353]
2. 2 [Option ID = 16354]
3. 3 [Option ID = 16355]
4. 4 [Option ID = 16356]

32) Which one of the following is not a marketing tactic.used for designing

customer-valug?

1, Service

2. Communication
3. Brand

4. Incentives
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[Question ID = 4090][Question Description = 132_10_COM_SEP22_S4_Q32]
.1 [Option ID = 16357]
| 2 2 [Option ID = 16358]
3. 3 [Option ID = 16359]
4. 4 [Option ID = 16360]

33)
Which one from ameng the following is not a generic strategy as per the
generic strategies identified by Porter ?

1, Market Penetration
2. Cost Leadership

3. Focus

4. Differentiaticn
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[Question ID = 4091][Question Description = 133_10_COM_SEP22_S4_Q33]
1. 1 [Option ID = 16361]
2. 2 [Option ID = 16362]
3. 3 [Option ID = 16363]
4. 4 [Option ID = 16364]

34)
Which is the single muost impertant driver of innovation (Gerard. J. Tellis 2013) in
a business firm ?

1. Labour
2. Capital
3. Gavernment
4. Culture
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[Question ID = 4092][Question Description = 134_10_COM_SEP22_S4_Q34]
1. 1 [Option ID = 16365]
2. 2 [Option ID = 16366]
3. 3 [Option ID = 16367]
\ 4. 4 [Option ID = 16368]

35) \Which one of the following rights is-usually not available to a partner

conseguent to the dissolution of a firm?

1. Right of equitable distribution of firm’s property

2. Right to return of premium on premature winding up

3. Right to be consulted

4. Right to restrain-any partner or his representatives from the use of firm name
or firm property
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[Question ID = 4093][Question Description = 135_10_COM_SEP22_S4_Q35]
1. 1 [Option ID = 16369]
2. 2 [Option ID = 16370]

3. 3 [Option ID = 16371]
4. 4 [Option ID = 16372]

36) Which one of the following duties is not a general duty of directors of a

company?

1. Duty of good faith in arder to promote the abject of the company

2. Duty of due and reasonable care, skill and diligence and shall exerdise
independent judgment.

3. Duty to attend Board Meetings

4. Duty not-to delegate or assign his office assignment.
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[Question ID = 4094][Question Description = 136_10_COM_SEP22_S4_Q36]
1. 1 [Option ID = 16373]
2. 2 [Option ID = 16374]
‘ 3. 3 [Option ID = 16375]
4. 4 [Option ID = 16376]

37)
A is entitled to children education allowance @ 3 80 p.m. per child, for three
children, it ameunts to 240 p.m. It will be exempted o the extentto which ane
of the following under the Indian Income Tax Act?

1.3200 p.m.
2. 3160 p.m.
3.3240 p.m,
4. 3300 p.m.
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[Question ID = 4095][Question Description = 137_10_COM_SEP22_S4_Q37]
1. 1 [Option ID = 16377]
" 2. 2 [Option ID = 16378]
3. 3 [Option ID = 16379]
4. 4 [Option ID = 16380]

38)
Which one of the following represents empirical generalisations relating to GDP
growth and changes in unemployment 7

1. Phillips curve

2. Misery indax

3. Pareta distributicn
4. Okun'slaw
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[Question ID = 4096][Question Description = 138_10_COM_SEP22_S4_Q38]
1. 1 [Option ID = 16381]
2. 2 [Option ID = 16382]
3. 3 [Option ID = 16383]
| 4. 4 [Option ID = 16384]

39) If the assessee is engaged in the business of growing and manufacturing tea in

India, the agriculture income in that case shall be;

1. 25% of the income of such business
2. 40% of the income of such business
3. 60% of the income of such business
4. 75% of the income of such business

gfe el HRd | 919 37714 Td MG $ Haerd H Qe 5, 3H X H B
3T &I Bhl 7

1.9 Oag/E @] 14 @ 25%
2. 39 HaGA S 310 T 40%
4, GY Aqg™ @] JE @ 75%

[Question ID = 4097][Question Description = 139_10_COM_SEP22_S4_Q39]
1. 1 [Option ID = 16385]
2. 2 [Option ID = 16386]
3. 3 [Option ID = 16387]
4. 4 [Option ID = 16388]

40)
Amount unutilised in the capital gain scheme for which exemption was claimed
under section 54 shall be treated as long-term capital in the previcus year?

1. In which period of 2 years has expired from the date of deposit
2. In which period of 2 years has expired from the date of transfer
3. In which period of 3 years has expired from date of deposit

4. In which period of 3 years has expired from the date of transfer
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[Question ID = 4098][Question Description = 140_10_COM_SEP22_S4_Q40]
1. 1 [Option ID = 16389]
2. 2 [Option ID = 16390]
3. 3 [Option ID = 16391]

41)

Currency depreciation in the Indian Rupee in recent times has largely been
attributed to:

A, Declining domestic savings

B, Increasing FDI flows

C. Portfolio outflows

D. Higher currency circulation

E. Higher imports and debt servicing

Cheose the correct answer from the options given below:

1.4 Band Conly
2.B.Cand Donly
3. A and D enly
4.Cand E only
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[Question ID = 4099][Question Description = 141_10_COM_SEP22_S4_Q41]
1. 1 [Option ID = 16393]
2. 2 [Option ID = 16394]
3. 3 [Option ID = 16395]
‘ 4. 4 [Option ID = 16396]

42)

Which of the following factors restrain Globalization?

A, International economic integration

B, Natignalism

C. Emerging trade barriers

D. Regulatory controls

E. Move towards free marketing systems

Choose the correct answer fram the options given below:

1. A and E anly

2.C, D and Eonly
3.B, Cand Donly
4. A, Band D only
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[Question ID = 4100][Question Description = 142_10_COM_SEP22_S4_Q42]
1. 1 [Option ID = 16397]
2. 2 [Option ID = 16398]
3. 3 [Option ID = 16399]
4. 4 [Option ID = 16400]

43)
The purpose (aim) of stock splitisto

A, Increase the number of shares

B. Reduce market price per share

C. Arrest share price decline

D. Encourage wider public ewnership

E. Reduce impact cost

Choose the correct answer fram the options given below:

1.A, Band C only
2.Band D only

3.B, Cand E only
4. A, D and Eenly
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[Question ID = 4101][Question Description = 143_10_COM_SEP22_S4_Q43]
1. 1 [Option ID = 16401]
2. 2 [Option ID = 16402]
3. 3 [Option ID = 16403]
4. 4 [Option ID = 16404]

44)

The contribution margin can be increased by which of the following?
A, Increasing the selling price per unit

B. Changing the sales mixture and selling more ptofitable products for which
thie P/V ratio is higher

C. Keeping the marginal cost unchanged

D. Increase the amount of fixed assets

E. Decreasing the selling price per unit

Choose the correct answer fram the options given below:

1.B, Cand E only
2.4, Cand Donly
3. A and B only
4. D and E anly
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[Question ID = 4102][Question Description = 144_10_COM_SEP22_S4_Q44]
1. 1 [Option ID = 16405]
2. 2 [Option ID = 16406]
3. 3 [Option ID = 16407]
4. 4 [Option ID = 16408]

45)

Which among the following information shall be disclosed for all public issues
of shares irrespective of their jssue price?

A, Eaming per share

B, Dividend payout ratio

C, Pre-issue P/E ratio

D. Average return on net worth in last 3 years

E. Net asset value per share based on |ast balance sheet
Cheose the correct answer fram the options given below;

1.4, B, Dand Eonly
2.4, C Dand Eonly
3.B,C, D and Eonly
4.4 B Cand D only
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[Question ID = 4103][Question Description = 145_10_COM_SEP22_S4_Q45]

1. 1 [Option ID = 16409]
2. 2 [Option ID = 16410]
3. 3 [Option ID = 16411]
4. 4 [Option ID = 16412]

Which of the following statements are true regarding price and outpuit
determination under perfect competition?

A, A firm is a price taker

B. Inthe long run, 2 firm is in eguilibrium when its AR=MR=LAC=LMC

C. A firm isincequilibrium in the:short run only when its AC=AR=MR=MC
D. A firm reaches its shut-down point when price goes below its AC

E. A firm fixes the price of its products when AR=MR

Choose the correct answer fram the options given below:

1.Cand E anly
2. A and B only
3. A Cand Eonly
4. B, Cand D only
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[Question ID = 4104][Question Description = 146_10_COM_SEP22_S4_Q46]
1. 1 [Option ID = 16413]
2. 2 [Option ID = 16414]
3. 3 [Option ID = 16415]
4. 4 [Option ID = 16416]

47) Which of the following statements regarding the short-term: theory of

production and cost analysis are false?

A, Econemit rent is the same as economic profit

B, Imputed cost is the rent of a hired building

C. When AC=MC, AC is minimum

D. When MC is rising, AC > MC

E. Output is optimum: when AC = MC

Choose the correct answer fram the options given below:

1. A and E only
2.Band D only
3.A Band Conly
4.C, D and Eonly
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[Question ID = 4105][Question Description = 147_10_COM_SEP22_S4_Q47]
1. 1 [Option ID = 16417]
2. 2 [Option ID = 16418]
3. 3 [Option ID = 16419]
4. 4 [Option ID = 16420]

48)

Which of the following statements regarding price and cutput determination
under monapoly are correct?

A, A monopoely firm can fix its price anywhere along its demand curve

B, Even during shert run when a monopoly firm earns normal profit, it produces
less than its optimum capacity

C. The slope of monopoly’s MR curve istwice the slope of its-AR curve

D. Price discrimination is possible only when demand curves are identical in
two markets

E, Equilibrium price of a manopolist is always higher than that of a perfectly
competitive firm

Choose the correct answer from the options given below:

1.4, D and Eonly
2. A, Band E only
3.B,Cand D only
4. B, Cand E only
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[Question ID = 4106][Question Description = 148_10_COM_SEP22_S4_Q48]
1. 1 [Option ID = 16421]
2. 2 [Option ID = 16422]
3. 3 [Option ID = 16423]
‘ 4. 4 [Option ID = 16424]

49)

Which of the following are the componenits of Mc Kinsey's 7-S framework 7
A, Shared values

B, Procurement

C. Strategy

D. Technology Development

E System

Choose the correct answer fram the options given below:

1.4, Cand Eonly
2.B,Cand E only
3.4 BandE only
4.B, D and Eonly
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[Question ID = 4107][Question Description = 149_10_COM_SEP22_S4_Q49]
‘ 1. 1 [Option ID = 16425]

2. 2 [Option ID = 16426]

3. 3 [Option ID = 16427]

4. 4 [Option ID = 16428]

50)
The MM hypothesis of the irrelevance of dividends'is based on which of the
following critical assumptions?

A. Investors are able to forecast future prices and dividends with certainty
B. The firm has a given investment policy which does not change

C. All financing is done through retained earnings:

D. There are no taxes

E. Perfect capital markets in which all investors are rational

Choose the correct answer fram the options given below:

1.A, Band C only
2.C, D and Eonly
3.4, B, Dand Eonly
4.B,C, D and Eonly
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[Question ID = 4108][Question Description = 150_10_COM_SEP22_S4_Q50]
1. 1 [Option ID = 16429]
2. 2 [Option ID = 16430]
3. 3 [Option ID = 16431]
4. 4 [Option ID = 16432]

51)

Which of the following are the properties of Binomial distribution?
A, May be symmetrical or skewed

B, Uni-modal, bell-shaped and symmetrical

C. Asymptotic to the x-axis

D. nand p are the twe parameters

E. pand o are the two parameters

Cheose the correct answer fram the options given below;

1.B and E only
2. A and D only
3.Cand E anly
4.B,Cand Donly
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[Question ID = 4109][Question Description = 151_10_COM_SEP22_S4_Q51]
1. 1 [Option ID = 16433]
2. 2 [Option ID = 16434]
3. 3 [Option ID = 16435]
4. 4 [Option ID = 16436]

52)
Which of the following are the parameters in the Finandial Inclusion Index in
India ?

A Affordability

B, Availability and usage

C. Ease of access:

D. Transparency and disclosure

E. Quality of financial inclusien

Choose the correct answer fram the options given below:

1.A, Band C only
2.C, D and Eonly
3.A BandDonly
4. B, Cand E only
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[Question ID = 4110][Question Description = 152_10_COM_SEP22_S4_Q52]
1. 1 [Option ID = 16437]
2. 2 [Option ID = 16438]
3. 3 [Option ID = 16439]
| 4. 4 [Option ID = 16440]

53)

Which of the following forces push up the productivity of employees in an
organisation?

A, Difficulty of work

B. Fear of working self out of job

C. Egoistic drive to accomplish

D. Desire for promotion

E. Motive towards doing work

Choose the correct answer fram the options given below:

1. A and B only

2.B,Cand Donly
3.A Dand Eonly
4.C, D and Eonly
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[Question ID = 4111][Question Description = 153_10_COM_SEP22_S4_Q53]
1. 1 [Option ID = 16441]
2. 2 [Option ID = 16442]
3. 3 [Option ID = 16443]
4. 4 [Option ID = 16444]

54)

According to the Contingency Approach, the factors governing the Span of
Management are;

A Type of wark

B, Ability of the manager

C. Ability of the employees:

D. Level of management

E. Geographic location

Choose the correct answer fram the options given below:

1.Band C only

2.B,Cand Donly
3.A Dand Eonly
4 A B C DandE
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[Question ID = 4112][Question Description = 154_10_COM_SEP22_S4_Q54]
1. 1 [Option ID = 16445]
2. 2 [Option ID = 16446]
3. 3 [Option ID = 16447]
| 4. 4 [Option ID = 16448]

55)
RBIfinancial inclusion index (H = Index) quality parameter captures information
on which of the following ;

A, Financial literacy

B, Consumer protection

C. Ease of access:

D. Availability and usage

E. Inequality and deficiency in service

Choose the correct answer fram the options given below:

1.A, Band C only
2.C, D and Eonly
3.A Dand Eonly
4. A, BandE only
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[Question ID = 4113][Question Description = 155_10_COM_SEP22_S4_Q55]
1. 1 [Option ID = 16449]
2. 2 [Option ID = 16450]

3. 3 [Option ID =
| 4. 4 [Option ID = “

56)
Properties of a good point estimator includes which of the following?
A, Stationarity
B, Efficiency
C. Consistency
D. Neutrality
E. Unbiasedness
Choose the correct answer fram the options given below:

1.A, Band C only
2.C, D and Eonly
3.A Dand Eonly
4. B, Cand E only
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[Question ID = 4114][Question Description = 156_10_COM_SEP22_S4_Q56]
1. 1 [Option ID = 16453]
2. 2 [Option ID = 16454]
3. 3 [Option ID = 16455]
‘ 4. 4 [Option ID = 16456]

57)

Which of the following are the essential elements for defining a business 7
A, Dealers

B, Products

C. Markets

D. Competitors

E. Functions

Choose the correct answer fram the options given below:

1.B, Cand E only
2.4, BandE only
3.B, Cand Donly
4. B and D only



T g &1 UG $34 & 00 99 d de HEied d 9 pH-88 7
A SITR

B, 9dIq

[Question ID = 4115][Question Description = 157_10_COM_SEP22_S4_Q57]
1. 1 [Option ID = 16457]
2. 2 [Option ID = 16458]
3. 3 [Option ID = 16459]
4. 4 [Option ID = 16460]

58)
On which of the following bases buyers are divided in psychographic
segmentation?

A, Loyalty status

B, Life style

C. Buyer-readiness stage

D. Values

E. User status

Choose the correct answer fram the options given below:

1.Band D only
2.4, Band D only
3.B, C-and E only

4. A, C Dand Eonly
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[Question ID = 4116][Question Description = 158_10_COM_SEP22_S4_Q58]
1. 1 [Option ID = 16461]
2. 2 [Option ID = 16462]
3. 3 [Option ID = 16463]
4. 4 [Option ID = 16464]

59)

Which of the following issues are coverad in Social Marketing?
A, Tobacco

B, Family planning

C. Public health

D. Financial well-being

E. Social good

Choose the correct answer from the options given below:

1.4 and B only

2. A Band Conly
3.C, D and Eonly
44BCDandE
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[Question ID = 4117][Question Description = 159_10_COM_SEP22_S4_Q59]
1. 1 [Option ID = 16465]
2. 2 [Option ID = 16466]
3. 3 [Option ID = 16467]
| 4. 4 [Option ID = 16468]

60)

Out of the following statements, which are not true in respect of a Limited
Liability Partnership?

A, There must be at least one 'Designated member’ at all times.

B, Designated members do not have the same rights and duties as any other
member.

C. There is no specific requirement to have any non-designated members,

D. A Limited'[_iabil‘rty Partnership may be established such that all members are
considered to be designated members

Choose the correct answer fram the options given below:

1.4, Cand D only
2. A and B only
3.Band D only
4.B,Cand D only
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[Question ID = 4118][Question Description = 160_10_COM_SEP22_S4_Q60]
1. 1 [Option ID = 16469]
| 2. 2 [Option ID = 16470]
3. 3 [Option ID = 16471]
4. 4 [Option ID = 16472]

61)

Which of the following companies cannot be a "Small Company?
A, A holding company or a subsidiary company

B, A company registered under Section 8

C. A company or body corporate governed by any Special Act

D. One Person Company (OPC)

Choose the correct answer fram the options given below:

1.Band C only
2. A, Band Conly
3.B, Cand Donly
4. A and D only
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[Question ID = 4119][Question Description = 161_10_COM_SEP22_S4_Q61]
1. 1 [Option ID = 16473]
2. 2 [Option ID = 16474]
3. 3 [Option ID = 16475]
4. 4 [Option ID = 16476]

62)
Whao are not eligible to get information under the RT| Act from the following?

A Corporations

B. Assgciations

C. Companies

D. Citizens

E. Legal entities’

Choose the correct answer fram the options given below:

1.4, B, Dand Eonly
2.A, B, Cand Eonly
3.B and D only

4. A, D and Eenly
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[Question ID = 4120][Question Description = 162_10_COM_SEP22_S4_Q62]
1. 1 [Option ID = 16477]
2. 2 [Option ID = 16478]
3. 3 [Option ID = 16479]
4. 4 [Option ID = 16480]

63)

Which of the following cannotuse [TR=1 form to file return Under the Indian
Income Tax Act 7

A, Anindividual who is a director in a2 company.

B, &n individual who has any asset lecated outside India,

C. An individual whose total income does not exceed Rs. 50,00,000
D. An individual wheo has income from any source outside India

E. Anindividual who hasany unlisted equity shares at any time during the
previous year

Cheose the correct answer fram the options given below;

1.4, B, Cand D anly
2.A, B, Dand Eonly
3.A Cand Eonly
4.B,Cand E only
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1. ®Haa A, B, C3RD
2.aA, B, DARE

3.Paa A CHRE
4. Hhaa s, CANE

[Question ID = 4121][Question Description = 163_10_COM_SEP22_S4_Q63]
1. 1 [Option ID = 16481]
2. 2 [Option ID = 16482]
3. 3 [Option ID = 16483]
4. 4 [Option ID = 16484]

64)

Which of the following are included in Salary as per Section 17(1) of the Income
Tax Act?

A, Wages

B, Any pensian ar annuity

C. Any interest-from Governiment securities

D. Any gratuity

E. Any advance of salary

Choose the correct answer fram the options given below:

1.4, B, Cand D anly
2ZA B C DandE
3.4, B, Dand Eonly
4. CandE only
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74 fou e ol 3 9 wgl Iwe g
1,59t A, B, 3R D
2.A,B,C,DIRE

3. 990 A B DARE
4.thad C #R E

[Question ID = 4122][Question Description = 164_10_COM_SEP22_S4_Q64]
1. 1 [Option ID = 16485]
2. 2 [Option ID = 16486]
3. 3 [Option ID = 16487]
4. 4 [Option ID = 16488]

65)
Which of the following are correctly needed to claim exemptions in respect of
HRA?

A Salary

B, Place of residence

C. Staridard rent

D. Rent paid

E. HRA received

Choose the correct answer fram the options given below:

1.B,C, D and Eonly
2.4, C Dand Eonly
3.4, B, Dand Eonly
4. A, Band Conly



HpT [T el & HeH 5 ge @I ] Hufaad H § fbAd YR U i) s

87

A AT

B, SHIEH-8TH
C. FH® ]
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[Question ID = 4123][Question Description = 165_10_COM_SEP22_S4_Q65]
1. 1 [Option ID = 16489]
2. 2 [Option ID = 16490]
‘ 3. 3 [Option ID = 16491]
4. 4 [Option ID = 16492]

66)

Match List | with List I

List | Tariff/Subsidy

List Il Explanation

A, Tariffication

I. They have demonstrably adverse effects on other
member countries.

B. Prohibited subsidies

Il. They act on goods which are contingent upon
export performance.

C. Actionable subsidies

IIl. Replacement of existing non-tariff restrictions.

D. Non-actionable
subsidies

V. For industrial research in disadvantaged regions.

Choose the correct answer from the options given below:

TA-ILB-1ILC-1, D=V
2ZA-IV,B-1,C-1,D-10
LA-ILB=ILC-1L,D=-V
4LA-NILB-N,C-1ILD=]
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1.A-1l,B=I,C=1, D=IV
2.A-IV,B-1,C-II, D-1I
3A-IL,B-1,C1, D=1V
4A-1,B=IV,C-1ll, D-1

[Question ID = 4124][Question Description = 166_10_COM_SEP22_S4_Q66]
1. 1 [Option ID = 16493]
2. 2 [Option ID = 16494]
| 3. 3 [Option ID = 16495]
4. 4 [Option ID = 16496]

67)
Match List | with List 1
HL L Type List 1l Description
of Costing
A Margiral L. !.megrated approach te determine ;.Jrc:duct features, preduct
Costing price, product costs and preduct design that helps ensure a
' company to earn reasonable profit on new products.
IREE Il. The amount of any given volume of output by which the
Costifia aggregate costs are changed if the volume of output is increased

by one unit.

C. Target [II. Used when identical units are produced through an on-geing
Costing series of production steps,
D. Process  (IV. Costing:system in which costs being with tracing of activities
Costing and then to producing the product.

Choose the correct answer fram the options given below:

T.A-ILB-IV,C-1,D-1I
2ZA-1L,B-IV,C-lll, D=
LA-ILB-ILC-V, D=
4 A-1L,B-ULC-1,D-V




Gl -1 DI -1l GHIO g ;

! -| AT
FuRu e gE - faaR
TR

A HdHG (e o YR @ Uhidd J9ITH il [l duHl @l

TR [ YT B H SEradl Sl ¢ (o 90 Sl RS

e @y wTE B8R

- L A% B & FH1 H 0P §P1 31 g 61 T Fee
' @ Rt & T T Y Ry e e T A

SIUGREEIEA) P

c.uld |10 e IO Bl T ST g e Uk $

ATe-(YTRYT [Swiad 8 @1 G20 H mga el o

D.uREET  |iv. TFa-FsRe ol o aro-srdeang &

- (fgie ¥ o g1 @ UY 3dE ®1 SdieA aial e

9 U e feed 8 9 98 SR AT

1.A-1L,B=IV,C=I, D=1

2ZA-1,B-IN,C-l, D=1l

J.A-1,B=-I,C=-1IV, D-I

4A-),B=-1I,C=l, D=1V

[Question ID = 4125][Question Description = 167_10_COM_SEP22_S4_Q67]
1. 1 [Option ID = 16497]
2. 2 [Option ID = 16498]
3. 3 [Option ID = 16499]
4. 4 [Option ID = 16500]

68)
Match List | with List I

List | List I1
Objectives of business firms Suggested by
A. Sales Revenue maximization 1. K.W, Rothschild

B. Maximization of Firm’s growth
' g I, Cyert and March

rate
C. Long-term-survival 11l W.J. Baumol
D. Satisfying behaviour IV. Rohin Marris

Choose the correct answer from the aptions given below:

TA-ILB-MC-LD-I
ZA-IVB-ILC-1,D-|
3A-ILB-LC-V, D=1
4 A-LB-ILC-Il, D~V
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1.A-1II,B=1IV,C=-1, D-1I
ZA-IV, B-IN,C-1l, D-1

3.A-I,B=],C-IV, D~
4A-1,B-1l,C-1I, D=1V

[Question ID = 4126][Question Description = 168_10_COM_SEP22_S4_Q68]
| 1. 1 [Option ID = 16501]
2. 2 [Option ID = 16502]
3. 3 [Option ID = 16503]
4. 4 [Option ID = 16504]

69)

Match List | with: List Il

List | List 11
Economic b ot
escription
framework P

A. Stackelberg
model

. The situation in which each player in an oligopolistic
markets adopts its dominantstrategy but could da by
cooperating

Il. Conceptualisation for identifying the structural

z;:;[\::llisbr:‘tum determinants of the intensity of competition and the
probability of firms in cligopolistic industries

C. Peter's 111, If firms are disproportionately powerful the market leader

strategic makes the first move and captures two-thirds of market share;

framewaork while follower firm gets-only a third of the market share

D. Prisaner's
delima

IV. A situation in which each player has chosen his/her
optional strategy given the strateqy chosen by the other

player

Choose the correct answer fram the options given below:

T.A-ILB-IV,C-,D-1ll
ZA-ILB-M,C-1,D-|

3A-ILB-LCE

-V, B -l

4A-ILB-NLC-LD-IV
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TA-1,B=IV,C-1, D=1
2A-1LB=IV,C-ll, D1
LA-NLB=l,C=IV, D=1
4A-1LB-1l,C-1, D=V

[Question ID = 4127][Question Description = 169_10_COM_SEP22_S4_Q69]
1. 1 [Option ID = 16505]
2. 2 [Option ID = 16506]
3. 3 [Option ID = 16507]
4. 4 [Option ID = 16508]

70)
Match List | with List 1l
List | List 1l
Formula for test
. Test
statistic
(0 —E)°

A. z 5 |. Z-test
8.

12 2&3 3 1. H-test (Kruskal-Wallis test)
nin+ 1) Ly
C. X_S_E K IIl. F-test (ANOVA)

S5'between T

= 3 aitiitn V. Chi-square test

Choose the correct answer from the options given below:

ToA=-LB=ILC-IILD=V
A= B =V, C -0
3A-M,B-1IC-1L, D=1
LA-IV,B-Il,C- D=
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1.A=1,B=1,C=Ill, D=1V
2.A-1I,B-1IV,C-Il, D-I
3.A-IV,B-1l,C-I, D-1I
LA-IV,B-1,C-1ll, D-1

[Question ID = 4128][Question Description = 170_10_COM_SEP22_S4_Q70]

1.1
2.2
33
4. 4

71)

[Option ID = 16509]
[Option ID = 16510]
[Option ID = 16511]
[Option ID = 16512]

Match List | with List I

List |

List i

MBTI Framework-
Jungian Aspects

Characteristics

|, Relies more on perscnal values than on impersonal

A Sensin
S analysis and logic
Lo 1. Would work with known facts than look for
B. Thinking o . .
possibilities and relationships
) 11l Likes a flexible, spontaneous way rather than a
. Feeling

planned and orderly way of life

D. Perceiving

IV. Relies miore on interpersonal analysis and logic
than on personal values

Choose the correct answer fram the options given below:

1T.A-ILB-1LC-IV,D-
2A-ILE-IV,C-1,D-1
3A-B-MC-L,D-1
4 A-ILE-LC-II,D-V
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1A-Il,B-],C-IV, D-1l
2A-11,B=IV,C-1, D-1II
JA-N,B=-,C=-1 D-1I
L A-11,B=1,C=-1I, D=1V

[Question ID = 4129][Question Description = 171_10_COM_SEP22_S4_Q71]
1. 1 [Option ID = 16513]
| 2. 2 [Option ID = 16514]
3. 3 [Option ID = 16515]
4. 4 [Option ID = 16516]

72)

Match List | with List 1l

List | List 1l
Entrepreneurial s i
Description
Theory

A, Thomas Cochran's
Theory

I. Highlight the self-confidence of a person and the
dependency on fortune and external envircnment for
becoming an entreprenaur

B. Rotter's Locus of
Control Theary

II. Religious beliefs are the driving or restraining forces
for entreprensurial activity

C. Mclelland's Theary

[l The environment in which-an individual is breught up
determines his entrepreneurial urge

D. Max Webber's

Theary

IV. The need for achisvement {nAch) drives and

stimulate entrepreneurship

Choose the correct answer from the aptions given below:

LA-ILBE-LE-IV,D-1I
ZA-ILB-N,C-IV,D-

3A-L,B-IV,E-I1,D
4AA-ILBE-LC-1I,D

-1V
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TA-ILB-1,C-IV, D~
ZA-B-ILC-IV, D~I
JA-1LB-IW,C-lIl, D=1
LA-1,B-C-1ll, D~V

[Question ID = 4130][Question Description = 172_10_COM_SEP22_S4_Q72]
1. 1 [Option ID = 16517]
2. 2 [Option ID = 16518]
3. 3 [Option ID = 16519]
4. 4 [Option ID = 16520]

73)
Match List | with List 1l

List | List Il
PLC Stage Pricing Strategy

I. Price to match or beat competitars

A, Decline ;

price
B. Maturity Il. Charge cost-plus price
C. Growth Ili Price reduction

D. Introduction|IV. Price to penetrate market

Choose the correct answer from the options given below:

1TA-IB-MC-LD-1
ZA-ILB-ILE-1,D-V
3.A-ILB-LE-IV,D-]l
4 A-ILE-LC-ILD-V
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1.A-1I,B=1V,C-1, D-1i
2A-1I,B=11,C=1, D=IV
3.A-IIl,B-1,C-1V, D-1Ul
4.A-11,B=1,C-lll, D=IV

[Question ID = 4131][Question Description = 173_10_COM_SEP22_S4_Q73]
1. 1 [Option ID = 16521]
2. 2 [Option ID = 16522]
3. 3 [Option ID = 16523]
4. 4 [Option ID = 16524]

74)
Match List | with List I

List | List 11
Characterstic
. Desription
Business

I. The most valuable segments of a company; the parts maost

A, Cash Cows ;
wanted by an acquirer

II. A third party friendly to management who helps a
B. CrownJewels |company aveid an unwanted takeover with taking over the
company on its own

Ill. A BCG term for business segment which have a high

. Fallen Angels
4 market share in low growth markets

. . IV. A bond issued at investment arade whose rating is
D. White Squire 9 &

subsequently dropped to below the investment grade

Choose the correct answer from the aptions given below:

T A-ILB-IV,C-,D-1l
2ZA-1L,B-IV,C-IILD-1l
3A-IVB-NILTC-1,D-|I
4.A-ILB-LC-IV,D-1
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1.A-1l,B-IV,

C-1, D=1

ZA-1LB-IV,C-lI D=1

3A-IV,B-II,

C=D=]

4A-ILB=1C-IV, D=1

[Question ID = 4

132][Question Description = 174_10_COM_SEP22_S4_Q74]

1. 1 [Option ID = 16525]
2. 2 [Option ID = 16526]
3. 3 [Option ID = 16527]
‘ 4. 4 [Option ID = 16528]

75)
Match List | with List 1l
List | List 1l
Marketi
“ Description
Concept

A, Brand Equity

I. The maximum possible demand for a product when
marketing expenditure in the industry is infinite

B. Brand
Identity

Il. The mental perception and associations of consumers
related to a brand

. Brand Image

Ill. The:peculiar distinguishing color, design, label of a brand
which distinguish brand of a firm

0. Market
Patential

IV. A pool of goedwill consumers have related to a brand

Choose the correct answer from the options given below:

1.A-IV,B
2o
3.A-1ILB

=ML =08
ILC-1V, b=
-LE-IV,D-1l

4A-ILB-NLC-LD-IV
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2ZA-)B-1LC-I¥, D=
LA-NLB=1,C-IV, D=1
4LA-1L,B-1L,C-1, D=1V

[Question ID = 4133][Question Description = 175_10_COM_SEP22_S4_Q75]
1. 1 [Option ID = 16529]
2. 2 [Option ID = 16530]
3. 3 [Option ID = 16531]
4. 4 [Option ID = 16532]

76)

Arrange the procedure followed for disbursement of export credit in a
sequence frem the firstto the last

A, The bank releases the funds debiting to the packing credit amount and
credit to the expeorier's account

B. The bank calculates the amount of packing credit to be grantad

C. The exporter would be required to send the goods through approved
transpert and forwarding agency

D, The exporter is reguired to take adequate insurance
E. Submit an evidence of export
Choose the correct answer from the options given below

1.8, A E DC
2.4 CBD.E
3.A,BCDE
4 EBACD
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1.B,A EDC

2Z2A CBDE

3.A.8,CD.E
4EBACD

[Question ID = 4134][Question Description = 176_10_COM_SEP22_S4_Q76]
1. 1 [Option ID = 16533]
2. 2 [Option ID = 16534]
3. 3 [Option ID = 16535]
| 4. 4[Option ID = 16536]

77)

Arrange the following steps in a logical sequence of the process of
management audit.

A, |dentification of responsibility centres

B. Review of organisational structure

C. Reporting

D, Identifying and segregating the objectives of business
E. Review of performance of each responsibility centre
Choose the correct answer from the options given below

1.A D ECBE
2AED B C
3.A,BEDC
4D, B A EC
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1A, D,ECB
2.A,ED,BC
3.ABEDC
4.D.BAEC

[Question ID = 4135][Question Description = 177_10_COM_SEP22_S4_Q77]

1. 1 [Option ID = 16537]
2. 2 [Option ID = 16538]
3. 3 [Option ID = 16539]
‘ 4. 4 [Option ID = 16540]

78)
Match List | with List 1l
List 1 List I
Statistical
. . Description
identitiy

A, Power of test

would be accepted

I. Maximum level of significance at which the null hypothesis

B. Standard error

I1. Test for significance of regression eguation

C.P-wvalue

IIl. Standard deviation of an estimate from a sample

D. F-test

hypothesis when it is false

IV. The prabability that test will lead to rejection of null

Choose the correct answer from the options given below:

TA-IB-ILC-IV, D=

2A-IVB-IILC

=} D=1

3A-ILBE-IV,C- D=1
4.A-L,B-IVE-IL,D-
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JA-,B-INV,C-1,D-1
LA-B-IV,C-1D-1

[Question ID = 4136][Question Description = 178_10_COM_SEP22_S4_Q78]
1. 1 [Option ID = 16541]
\ 2. 2 [Option ID = 16542]
3. 3 [Option ID = 16543]
4. 4 [Option ID = 16544]

79)

Arrange the following steps in the design thinking process for an innovative
solution to a problem:

A, |deate

B. Test

C. Empathize

D, Define

E. Prototype

Choose the correct answer from the options given below

1.4 D, CB.E
2B.CADE
3. CDAER
4 CEBAED
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1.A,D,CBE
2.B.CADE
3.CDAEB
4CBAED

[Question ID = 4137][Question Description = 179_10_COM_SEP22_S4_Q79]
1. 1 [Option ID = 16545]
2. 2 [Option ID = 16546]
| 3. 3 [Option ID = 16547]
4. 4 [Option ID = 16548]

80)
What is the correct sequence in "Hierarchy of Effects” mede] in a
communication situation:

A, Preference

B. Purchase

C. Awareness and Knowledge

D, Conviction

E Liking

Choose the correct answer from the options given below

1.4 DB CE
2D, B ECA
3.B,ADCE
4 CEADEB
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[Question ID = 4138][Question Description = 180_10_COM_SEP22_S4_Q80]
1. 1 [Option ID = 16549]
2. 2 [Option ID = 16550]
3. 3 [Option ID = 16551]
| 4. 4 [Option ID = 16552]

81)
Logically sequence the following stages in the organisational life cycle of a
business firm:

A, Expansion

B. Survival

C. Consolidation

D, Start-up

E. Decline

Choose the correct answer-from the options given below

1.0,A, CB.E
2BCADE
3.D,B,CAE
4D BACE
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[Question ID = 4139][Question Description = 181_10_COM_SEP22_S4_Q81]
1. 1 [Option ID = 16553]
2. 2 [Option ID = 16554]
3. 3 [Option ID = 16555]
| 4. 4 [Option ID = 16556]

82)
Arrange the following ratios in the increasing order of their significance in the
prediction of industrial sickness: (Altman, 1966):
Warking capital
" Total Assets

Retained Earnings
Total Assets

Eurnings Before Interest and Taxes
| l'otal Assets

c

Markeot Value of Equity
" Book Value of Total Debi

Sales
"Total Assest

Choose the correct answer from the options given below

1. EABC
2CEBDA
3.8.0,CAE
4EB.D.CA
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[Question ID = 4140][Question Description = 182_10_COM_SEP22_S4_Q82]
1. 1 [Option ID = 16557]
2. 2 [Option ID = 16558]
3. 3 [Option ID = 16559]
4. 4[Option ID = 16560]

83)
Arrange the following stages-in the marketing process:of an enterprise:

A, Marketing Mix

B. Marketing program implementation

C. Marketing planning

D, Market research

E. Control and evaluation of marketing programs
Choose the correct answer-from the options given below

1.D,C, A BE
2.C,BAED
3.B,A.D.CE
4.C,AD,BE
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[Question ID = 4141][Question Description = 183_10_COM_SEP22_S4_Q83]
| 1. 1[Option ID = 16561]
2. 2 [Option ID = 16562]
3. 3 [Option ID = 16563]
4. 4 [Option ID = 16564]

84)
Arrange the following process of making of a contract in the chronclogical
sequence from the firstto the last

&, Agreement

B. Promise

C. Offer or proposal

D, Contract

E. Acceptance

Choose the correct answer-from the options given below

1.CEBAD
2ZADECE
3.B.DCAE
4EBACD



Fafcied Hiaa s S ulpardi &1 G 8 id $ DrerTaRr 5 H waedd
EalE

A, TR (FHE)

B, @9

C. |

D. Hfdar

E HWidid

74 fou e ol 3 9 wgl Iwe g

1.CEBAD

2.A,D,ECB

3B D CAE
4 EBACD

[Question ID = 4142][Question Description = 184_10_COM_SEP22_S4_Q84]
| 1. 1 [Option ID = 16565]

2. 2 [Option ID = 16566]

3. 3 [Option ID = 16567]

4. 4 [Option ID = 16568]

85)
Seguence the procedure far e-filing of ITR-1 and ITR-2

A, Login

B. Register

C. Verification

D, Downloading utility and preparing the Return

E e-Filing Income Tax Return

Choose the correct answer from the options given below

1.4 B EDC
2B ADEC
3.B,ACD.E
448 CDE
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[Question ID = 4143][Question Description = 185_10_COM_SEP22_S4_Q85]
1. 1 [Option ID = 16569]
| 2. 2 [Option ID = 16570]
3. 3 [Option ID = 16571]
4. 4 [Option ID = 16572]

86)

Given below are two statements, one is labelled as Assertion A and the other
is labelied as Reason R

Assertion A: An export processing zone is different from free trade zone as it
promaotes units primarily devoted to experts,

Reason R: Goods imported to a free trade zone may be re-exported without
any processing, inthe same forin. But goods exported by units in an EPZ are
expected to have undergone somie value addition by manufacturing.

In light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A |s correct but R is hot carrect

4. A is not correct but R is correct
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[Question ID = 4144][Question Description = 186_10_COM_SEP22_S4_Q86]
1. 1 [Option ID = 16573]

2. 2 [Option ID = 16574]

3. 3 [Option ID = 16575]

4. 4 [Option ID = 16576]

87)

Given below are two statements, one is labelled as Assertion A and the other
is iabelled as Reason R

Assertion A : By switching to long-term government bonds; the investor
acquires an assat whose price fluctuates as interest ratesvary.

Reason R : Bond prices fall when interest rates rise and rise when interest rates
fall.

In light of the above statements, choose the correct answer from the options
given below

1. Both A and R are trie and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Alistrue but Ris false

4. A is false but R is-true
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[Question ID = 4145][Question Description = 187_10_COM_SEP22_S4_Q87]
1. 1 [Option ID = 16577]
2. 2 [Option ID = 16578]
3. 3 [Option ID = 16579]
4. 4 [Option ID = 16580]

88)

Given below are two statements

Statement I: The probable error (P.E) of the coefficient of correlation (r) is
defined as:

_ )
PE = 7
Statement Il: When a null hypothesis is true but the test statistic rejects it,
this is known as Type-l error in hypethesis testing.

In light of the abave statements, choosa the most appropriate answer from the
options given below

1, Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement || is incorrect
4. Statement | is incarrect but Statement |l is correct
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[Question ID = 4146][Question Description = 188_10_COM_SEP22_S4_Q88]
1. 1 [Option ID = 16581]
2. 2 [Option ID = 16582]
3. 3 [Option ID = 16583]
4. 4[Option ID - 16584]

89)
Given below are two statements, one is labelled as Assertion A and the other
is labelled as Reason R.

Assertion A : RZ terids to be smaller for cross sectional data than for the time
series data

Reason R : Wider fluctuations in the cross sectional data cause smaller value
of RZ

In light of the above statements, choose the correct answer from the optians
given below:

1. Both A and R are trie and R is the correct explanation of A,

2. Both A and R are true but R is NOT the correct explanation of A.
3. A is true but R is false

4. A s false but R is-trie.
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[Question ID = 4147][Question Description = 189_10_COM_SEP22_S4_Q89]
" 1. 1 [Option ID = 16585]

2. 2 [Option ID = 16586]

3. 3 [Option ID = 16587]

4. 4 [Option ID = 16588]

90)
Given below are two statements

Statement I: I the case of Life Insurance, the insurable interest must be
present in the person insured at the time when the event happened.

Statement ll: In the case of Fire Insurance, the insurable interest must be
presentin the object insured at the time when the policy is taken and the event
has happened.

In light of the above statements, choose the correct answer from the aptions
given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement [l is false
4, Statement | is false but Statement |l is'true

FYF - | Sg3 81 & A9 H 921 9ied 814 & 998 8 &S g sied

&1 9191 g1 &g aifFara: Suas 81 9|

T - || ; AT G S5 & HEG | Uiferdl o 99 R 9e] gied g & 95y
it a%g & 9191 9 fed srfRards: Suas! g1 Iregl

Iqad YAl § AGH § FEad el 8 4 e 9w 91 ;

1.5 3R | SR Egi Bl

2. %4 SR | eF TEd Bl
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[Question ID = 4148][Question Description = 190_10_COM_SEP22_S4_Q90]
1. 1 [Option ID = 16589]
2. 2 [Option ID = 16590]
3. 3 [Option ID = 16591]
| 4. 4 [Option ID = 16592]

Topic:- 8_SH1_PARTB_S2

1)

Read the given passage and answer the questions that follow

The Monetary Policy Commyittee of the RBI should neither raise policy rates nor wind
up its accommodative policy stance. Yes, inflation has been on the rise, and growth
has been setting in. This is the time to censolidate growth, not to be spooked by
transient, supply-constrained inflation. Choking off supply-side price shocks is self-
defeating. Higher prices will curb demand and stimulate additional supplies, if the
prices are allowed to work their way through the system, instead of being choked off
through demand suppression: It is only the second-order effect of price shocks in
energy, logistics and labour that call for curtailment of demand via higher interest
rates.

Far from there being any sign of excess demand, the latest available national income
figures suggest squeezed consumption and constrained investment. GDP this fiscal
would struggle to recever the size attained at the end of 2019-20, The policy
response appropriate for inflation caused by excess demand would be wholly
unsuited for inflation caused by supply disruptions and a spike in energy prices. The
right way to combat elevated inflation right now is to reduce the burden ofta;es that
energy bears in India, Both the Centre and the states shiould share the tax cuts, They
should take this action, even as they strive to find common greund on bringing
energy under the goods and services tax. The gavernment also has the cushion of
relatively high import duties that can be pared, to lower prices, Stepping up
production to increase supplies is another part of supply-constrained inflation.

There are measures the RBI can take to increase access to credit by micre, small and
medium enterprises; other than enhancing liguidity in general in the hope that some
would find its way to the small sector, The RBI can do its bit to realise the
government mandate for all large companies to purchase their inputs fram the Trade
Recejvables Discounting System (TReDS), for example, if that improves trade finance
significantly, some reduction in ljguidity would not matter,

Which one of the following is miost desirable tc consolidate grawth?

1. Reduce interest rate

2. Increase intersst rate

3, Suppression of demand

4. Stimulate additional supply
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[Question ID = 4149][Question Description = 191_10_COM_SEP22_S4_Q91]
1. 1 [Option ID = 16593]
2. 2 [Option ID = 16594]
3. 3 [Option ID = 16595]
| 4. 4 [Option ID = 16596]



2)

Read the given passage and answer the questions that follow

The Monetary Policy Committee of the RBI should neither raise policy rates nor wind
up its accommeodative policy stance. Yes, inflation has been en the rise, and growth
has been setting in. This is-the time to censolidate growth, not to be spooked by
transient, supply-constrained inflation. Choking off supply-side price shocks is self-
defeating. Higher prices will curb demand and stimulate additional supplies, if the
prices are allowed to weork their way through the system, instead of being choked off
through demand suppression: It is only the second-order effect of price shocks in
energy, logistics and labour that eall for curtailment of demand via higher interest
rates.

Far from there being any sign of excess demand, the latest available national income
figures suggest squeezed consumption and constrained investment. GDP this fiscal
would struggle to recover the size attained at the end of 2019-20, The policy
response appropriate for inflation caused by excess: demand would be wholly
unsuited for inflation caused by supply disruptions and a spike in-energy prices. The
right way to combat elevated inflation right now is ta reduce the burden of taxes that
energy bears in India. Both the Centre and the states should share the tax cuts, They
should take this action, even as they strive to find common greund on bringing
energy under the goods and services tax. The gevernment also has the cushion of
relatively high import duties that can be pared, to lower prices, Stepping up
production to increase supplies is another part of supply-constrained inflation.

There are measures the RBI can take to increase access o aedit by micro, small and
medium enterprises; other than enhancing liguidity in general in the hope that some
would find its-way to the small sector. The RBI can do its bit to realise the
government mandate for all large companies to purchase their inputs-fram the Trade
Receivables Discounting System (TReDS), for example, if that improves trade finance
significantly, some reduction in liguidity would not matter,

Which one of the following statements is not true?

1. Both the Centre and the States should share the tax cuts equally

2. GDP this fiscal would find it difficult to recover the size attained at the end
of 2019-20

3. Curtailment of demand via higher interest rates can be used in a limited
way

4. Choking off supply-side price shocks will affect growth adversely
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[Question ID = 4150][Question Description = 192_10_COM_SEP22_S4_Q92]
1. 1 [Option ID = 16597]
2. 2 [Option ID = 16598]
3. 3 [Option ID = 16599]
4. 4 [Option ID = 16600]



3)

Read the given passage and answer the questions that follow

The Monetary Policy Committee of the RBI should neither raise policy rates nor wind
up its accommeadative policy stance. Yes, inflation has been en the rise, and growth
has been setting in. This is-the time to censolidate growth, not to be spooked by
transient, supply-constrained inflation. Choking off supply-side price shocks is self-
defeating. Higher prices will curb demand and stimulate additional supplies, if the
prices are allowed to wark their way through the system, instead of being choked off
through demand suppression: It is only the second-order effect of price shotks in
energy, logistics and labour that call for curtailment of demand via higher interest
rates.

Far from there being any sign of excess demand, the latest available national income
figures suggest squeezed consumption and constrained investment. GDP this fiscal
would struggle to recever the size attained at the end of 2019-20, The policy
response appropriate for inflation caused by excess: demand would be wholly
unsuited for inflation caused by supply disruptions and a spike in energy prices. The
right way to combat elevated inflation rightnow is to reduce the burden of taxes that
energy bears in India. Both the Centre and the states should share the tax cuts, They
should take this action, even as they strive to find cemmon greund on bringing
energy under the goods and services tax. The government also has the cushion of
relatively high import duties that can be pared, to lower prices, Stepping up
production to increase supplies is another part of supply-constrained inflation.

There are measures the RBI can take to increase access o aedit by micro, small and
medium enterprises; other than enhancing liguidity in general in the hope that some
would find its way to the small sector. The RBI can do its bit to realise the
government mandate for all large companies to purchase their inputs-from the Trade
Receivables Discounting System (TReDS), for example, if that improves trade finance
significantly, some reduction in liguidity would not matter,

Which of the fullc-wing measures the RBI can take to consolidate growth?

1. Reduce tax onfuel price

2. Reduce import duty

3. Increase access to credit by MSMEs:

4. Absorb price increase by providing subsidies
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T G SR A e T SR Bl €1 59 iy O # e Wy 9aE 9l
g4 2019-20 & 3fd B UG HHR B 47: Wi & 078 J94 S 9o s 977 g1
I HeTEhild & [ore gHuged /iaid Siear HUfduid g9 SR Sl Bl SiEal 5
& BRI BING HERPId & [T qoid: SIga g1 TapIe 961 g3 Aarepiid ©F B
@1 Gal @] YRa J i &3 R THRE S & 915 @) $F B3 8| dg TR 3R
Tl TI@N G| @) &Y H wolh] & 9l $] Tiel | Tgl a® ®1 ofd $Hell @] J1d AN
a1 B @) 9RiY H O & He W 9H 9iduli-ie edid g 99Hid a4 W di Hi 3% g8
HUAE! B dliel| AR & Uiy Hl HUsHd HiiE gd Yow &1 9E6 U84 Suae
& fordl <o ®1ad & G5qcd [3d] o 9@l 8| HTdfY 9gH @ o0 3G J gia ol
H1fS -wuifed 951 T5fd @1 g9 Y 8|

HRETE o S W AR W o) @1 gl S @ Sfere] 9er Ty SR HeEE gl
& GRI H1E SHWTH H giE v & 07U 59 9 H &3 9uld & 9ddl & |6 38 S9d
Y &7 F 3 S| JEE & oR W HRdE Roe 9o 9 93 suigl & fou R
i e Woel (€ AR § S TH) & A9 AEH Giied Bl g o8 WoR &
HU9T B WoR B H AU YiH@! @ Hale o) 9@l o) 4is 399 @R a9 5 &9
Tl HleP A el G|

g5 & e & o yrdig fed o Fgifea & 3 oo 3umg s gadl 8 2

1. 347 @ B O TUIRG & 92T Thel 2 1
E&W%Hﬂﬁﬂmgl
3.8, Y SR HUE 9 & BiSE () & Ut
ﬂmmafaaﬂawq@ﬁa{ﬁwaﬂm%l

[Question ID = 4151][Question Description = 193_10_COM_SEP22_S4_Q93]
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4)

Read the given passage and answer the questions that follow

The Monetary Policy Committee of the RBI should neither raise policy rates nor wind
up its accommeodative policy stance. Yes, inflation has been en the rise, and growth
has been setting in. This is-the time to censolidate growth, not to be spooked by
transient, supply-constrained inflation. Choking off supply-side price shocks is self-
defeating. Higher prices will curb demand and stimulate additional supplies, if the
prices are allowed to work their way through the system, instead of being choked off
through demand suppression: It is only the second-order effect of price shocks in
energy, logistics and labour that call for curtailment of demand via higher interest
rates.

Far from there being any sign of excess demand, the latest available national income
figures suggest squeezed consumption and constrained investment. GDP this fiscal
would struggle to recover the size attained at the end of 2019-20, The policy
response appropriate for inflation caused by excess demand would be wholly
unsuited for inflation caused by supply disruptions and a spike in energy prices. The
right way to combat elevated inflation rightnow is to reduce the burden of taxes that
energy bears in India. Both the Centre and the states should share the tax cuts, They
should take this action, even as they strive to find common greund on bringing
energy under the goods and services tax. The government also has the cushion of
relatively high import duties that can be pared, to lower prices, Stepping up
production to increase supplies is another part of supply-constrained inflation.

There are measures the RBI can take to increase access o aedit by micro, small and
medium enterprises; other than enhancing liguidity in general in the hope that some
would find its way to the small sector. The RBI can do its bit to realise the
government mandate for all large companies to purchase their inputs-fram the Trade
Receivables Discounting System (TReDS), for example, if that improves trade finance
significantly, some reduction in liguidity would not matter,

Which one of the following is the cause of inflation as per the passage?

1. Reduction in interest rate
2| Incredse in cost

3. Supply disruptions

4. Increase in demand



frraifia Taie ot wrgEe uiew ofiv T e ust % S i -

e Rod s& 91 9ite i offa & 5 9 diod & & g e AT g S
FHSHER it Fofg o gaE e ety FRT T m e dag g o
Gl @1 Hishbl 3HaRd <ol ol 3" 95Y ] 7141 & (o dies T HHoA [bg e AR i
TG ST GRIEEIi ¥ HOmHia 98! g 9
&wﬁaﬂmﬂﬂa%e&mﬁaﬁmﬁmﬂﬁmﬂ?raﬂﬁanqﬁeﬁam
A | B 1w SR SfaRed sngld o Gadq g gl 5 & UREE & 3y J 5l
dc [T 95 & S99 DiFdl O oF (WO & 5 ¥ 30H e ®1Y o B
SHfa € STE| FHe SR T 3R oF & &8 § S HYH B o o0 BT UHE Bl B
TorH 3ogor o =1 & W 4 1R § @kl [T 9 @1 HaReHd o

S HIT B HdE i DI 91 df L I8, YT JuTe AP AT B e §
T Ed R uEE FeY @1 S o o 36 R ad § 9ed W oaE @
A 2019-20 T T WK SR B G Wi o 70 Sud S o | i 9 g
T ErEmifa & o wgugE A e sifdute 141 3R Sl &I S 5
IS TR BN GRIEHI & 1o GUic: S0 BFTT| ThTe 951 g% RIepii oF B
B &) TD! Ud J Sl &7 T UYING X & 919 ] BH B 5| R GIBR AR
G YL@ SHI @I B H Hefal $] S S Aiel| Tgl da @ oig Sl @l JId 3R
a7 o @i IR & 949 & T8 I 394 Tave Yeda @ 9o s ot i 9E 08
PR B ey THR & UTH i TS YD HHd YoP 3 YU T8 Jyaes
& o o F199 & 9Hg [0 o Ul 81 gl s & o Swied | 9fa s
SRS -HTTa 5 TET 1 GERT HAT &

W Rod S TR TR IR Oe @ 9iE B B SfaTaT 9an o SIK Hen Igi
& BT O A E g A @ U 55 =0 § $s SUg o2 9ad & 19 58 9ad
Y & H 37 T ey & Ok W YRy fod # 9t 5 il & e s
o e UOmel (67 AR S S T8 & A G Wiad $f AHaY 5T WaR &
Ay B GHR B34 ¥ U YHE &1 HalE S oedi 8| U ST auR fag H oe

TRITFER e 5 § fead sru gerwifa I & e 2

1. ST &% o el

2. 9Td § §gIe!

4, A E gl
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2. 2 [Option ID = 16606]
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5)

Read the given passage and answer the questions that follow

The Monetary Policy Commyittee of the REl should neither raise policy rates nor wind
up its accommodative policy stance. Yes, inflation has been on the rise, and growth
has been setting in. This is'the time to consolidate growth, not to be spooked by
transient, supply-constrained inflation. Choking off supply-side price shocks is self-
defeating. Higher prices will curb demand and stimulate additional supplies, if the
prices are allowed to work their way through the system, instead of being choked off
through demand suppression: It is only the second-order effect of price shocks in
energy, logistics and labour that call for curtailment of demand via higher interest

rates.

Far from there being any sign of excess demand, the latest available national income
figures suggest squeezed consumption and constrained investment. GDP this fiscal
would struggle to reccver the size attained at the end of 2019-20, The policy
response appropriate for inflation caused by excess demand would be wholly
unsuited for inflation caused by supply disruptions and a spike in energy prices. The
right way to combat elevated inflation rightnow is to reduce the burden of taxes that
energy bears in India. Both the Centre and the states should share the tax cuts, They
should take this action, even as they strive to find commion ground on bringing
energy under the goods and services tax. The government also has the cushion of
relatively high import duties that can be pared, to lower prices, Stepping up
production-to increase supplies is another part of supply-constrained inflation.

There are measures the RBI can take to increase access to credit by micro, small and
medium enterprises; other than enhancing liguidity in general in the hope that some
would find its way to the small sector. The RBI can do its bit to realise the
government mandate for all large companies to purchase their inputs from the Trade
Receivables Discounting System (TReDS), for example, if that improves trade finance
significantly, some reduction in ljguidity would not matter,

Given below are two statements, one is fabelled as Assertion A and the other
is labelled 25 Reason R

Assertion A: The policy response appropriate for inflation caused by excess
demand would be wholly suited for inflation caused by a spike In energy
prices.

Reason R: The right way to combat elevated inflation right now Is to reduce
the burden of taxes that energy bears in India.

In light of the above statements, choose the most appropriate answer from
the options given below

1. Both A and R are correct and R is the correct explanationof A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A iscorrect but R is not correct

4. A is not correct but R is correct



faifera e F1 W ufet oY I T uat & S dife
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oo T o o) @ A O A H $eld) 18 9 O H1asaddl ol

3rcfie HIT @1 Hebad g @1 a1 dl g3 T6), YT JUas AP AT B sl U
T G SR WAt R BT SR Bl 81 59 iy O H e Wy Sae 9l
g4 2019-20 & 3fd § UG HHR B 47: Wi P o8 J94 S gaT| s 97 g1
I HeTEhild & [ore gHuged /iaid SAdieal SUduid g9 SR Gl &l SiEal §
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a1 B @) 9RiY H O & He W 9-H 9dul-ie 9edid g 99Hid a9 il di Hi 3% g8
HUGIE! B dliel| RER B UG Hl HUaTDHd HiiE gd Yod &1 GEs U84 SuTe
& ol =09 BiEa @ OO [dl o 9@dl &1 A9 SoM @ o4 3de 4 gfe &
HTfS -wuifed 951 T5fd @1 g9 Y 8|

R e 8% 9 dR IR O] & dis B & el 957 7Y AR TEE Ignl
@ gRI UG SHTH 4 gla B3 & 07T 0 19 H ®3 9uid &R 9ol & 1 58 399
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Tl HieP A el G|
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1)
Study the given table and answer the five questions that follow

The following information is available with respect to @ company manufacturing a
particular product.

Sale price (per unit) < 20
Variable manufacturing cost per unit T 11
Variable selling cost per unit 33

Fixed factory overheads (per year) 3.5:40.000
Fixed selling costs (per year) T 2,52,000

On the basis of the above infermation answers the questions that follow:

Which one of the following is PV ratio for the company?

1.1.82%
2.1.43%
3.20%
4.33%

et fadiy Iaurg &1 fafsmior s arel Sudt F g9y | FHaftEs s=er &
TER:

EEaE R ICIRECED) 20%.
afad [GHE arTe Uited (11 5.
qivad f9wd arra uld ted 3 3.
Eﬁ'{ﬁﬁ f ' 5,40,000 %.
e @ ar [Widay) 2.52,000%.
JuUdd Yo & 4R 9 o8 774wyl & o gifeig :

Fgifed & 9 @u-1 &1 oy HE] S &) B ?

1,182 %
2143 %
4.33%

[Question ID = 4154][Question Description = 196_10_COM_SEP22_S4_Q96]
1. 1 [Option ID = 16613]
2. 2 [Option ID = 16614]
3. 3 [Option ID = 16615]
4. 4 [Option ID = 16616]



2)
Study the given table and answer the five questions that follow

The following information is available with respect to a company manufacturing a
particular product.

Sale price (per unit) 20
Variable manufacturing cost per unit T 1
Variable selling cost per unit 33

Fixed factory overheads (per year) 3540000
Fixed selling costs (per year) T 2,52,000

On the basis of the above infermation answers the questions that follow:

Which one of the following is the break-even peint in units for the company?

1. 1,32,000 units:
2. 38,576 units
3. 84,000 units
4 72.000 units

frddt fadiy gare @1 fAfaafn s 9 ot ¥ S9u § Fafafae seer &
TER:

EEAR: N IGECED) 20%.
aad a0 ae Uiated (11 5.
qivad 9wy arla ula i 3 3.
wﬁ E ' 5,40,000 .
e @ ave @iay) 2. 52,000 %.
Iuhad Yo & HUR 9 o8 74wyl & o gifei

i 5 4 w1 vl & (o0 9e-fawss fdg gesai o amr g g 7

1.1,32,000 5@
2.38,576 3@I4!
3. 84,000 3B
4.72,000 S@IA1

[Question ID = 4155][Question Description = 197_10_COM_SEP22_S4_Q97]
| 1. 1 [Option ID = 16617]

2. 2 [Option ID = 16618]

3. 3 [Option ID = 16619]

4. 4 [Option ID = 16620]



3)

Study the given table and answer the five questions that follow

The following information is available with respect to a company manufacturing a
particular product.

Sale price (per unit) 20
Variable manufacturing cost per unit T 1
\ariable selling cost per unit 33

Fixed factory overheads (per year) 1540000
Fixed selling costs (per year) T 2,52,000

On the basis of the above infermation answers the questions that follow:

Which one of the fellawing is the break-gven point in terms of rupees?

1.3 18,060,000
2.32640,000
3:338,57,600
4.313,20,000

frddt fadiy gare &1 fAfiai s 9l $ut F g9y § Fafafae seen &
TER:

EEAR R IGECED) 20%.
aad [GHE arTe Uiated 11 5.
qivad 9wy arla uid ted 3 3.
Rﬁmﬁ E T |540,000 %
T @ av [@ia) 2. 52,000 %.
IuUad Yo & 4R 9 o8 74 vyl & o gifei :

T gl A Fifdn d S s en-Ase Mg & 7

1,18,00,000 3.
2.26,40,000 %.
3.38,57,600 2.
4.13,20,000 3.

[Question ID = 4156][Question Description = 198_10_COM_SEP22_S4_Q98]
1. 1 [Option ID = 16621]
| 2. 2 [Option ID = 16622]
3. 3 [Option ID = 16623]
4. 4 [Option ID = 16624]



4)

Study the given table and answer the five questions that follow

The following information is available with respect to a company manufacturing a
particular product.

Sale price (per unit) 20
Variable manufacturing cost per unit EA D
Variable selling cost per unit 33

Fixed factory overheads (per year) 540,000
Fixed selling costs (per year) 3 2,52,000

On the basis of the above infermation answers the questions that follow:

Which one ef the following is desired sales volume in units te eam a profitef T
60,0007

1.83,667 units

2. 2,564,000 units
3.1,32,000 units
4. 1,42,000 units

et fady gare &1 fafmior o 9l oot F w9y § fefeaie s=en &
TER:

EEAR N IGECED) 209,
aRkad faa are uiiues (11 5.
Uivad famd arg U Up® 395,
Wﬁf A TR 5,40,000 %.
T [ arTd [mida) 2, 52,000 %.
JUUdd a1 @ SfER YR 164 T Wl & Gwl i ;

60,000, @1 O Hfld @ o fod Fgifed o 9 aifed fadt o amr e g 7

1.63,667 S@IZA1
2.2,64,000 5T
3.1,32.000 33135 o
4.1,42,000 e

[Question ID = 4157][Question Description = 199_10_COM_SEP22_S4_Q99]
1. 1 [Option ID = 16625]
2. 2 [Option ID = 16626]
3. 3 [Option ID = 16627]
| 4. 4 [Option ID = 16628]



5)

Study the given table and answer the five questions that follow

The following information is available with respect to a company manufacturing a
particular product.

Sale price (per unit) 20
Variable manufacturing cost per unit EA D
Variable selling cost per unit 33

Fixed factory overheads (per year) 3540000
Fixed selling costs (per year) 3 2,52,000

On the basis of the above infermation answers the questions that follow:

Which one of the following is desired sales (rupees) te earn a profit of 3
1,20,0007

1. % 26:40,000
2.% 30,40,000
3.315,20,000
4.% 26/40,000

=t fidra are =1 faftfo w0 9l ot F "3y § ffafee swe &
TER:

e g (mfius®) 209,
afvad fafaior o ufdues (11 5.
Uivad famd and Ua Up® (395,
mﬁf o TR 5,40,000 %.
T & avd (mida) 2, 52,000 %.
JUUdd o] & SHR YR 164 T/ Wl & Gwi i ;

1,20,000 %, T &Y fola #3 & o0 @l §) Fgited d € #97 9ifedq fa@i 8 7

1.26,40,000 ¥.
2.3040,000 %.
3.1,52,0,000 %.
4.2,64,0000%.

[Question ID = 4158][Question Description = 200_10_COM_SEP22_S4_Q100]
1. 1 [Option ID = 16629]
| 2. 2 [Option ID = 16630]
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4. 4 [Option ID = 16632]

Topic:- 22 GP_29SEPT22_SH1_S2_A



1)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries: (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Vi Types Of Batteries Sold (in thousands)
4AH TAH 32AH 35AH 55AH

2015 |75 144 114 102 108
2016 90 126 102 24 126
2017 (96 114 75 105 135
2018 |105 80 150 80 75
2012 90 75 135 75 an
2020 (105 60 165 45 120
2021 115 85 160 100 145

What was the approximate percentage increase in the sales of 35AH batteries in 2027 compared 1o that
in 20157

1.28 %
231 %
.33 %
4,34 %

fafeRaa aferer & a4 2015 & 2021 90 & SRIF TH DUAT gRT [A@1 Dt 78 [QAFHT TPR I qchal
(BYIR ®) & 3wt - eies fAw v &1 50 aiftreT & siws! & YR W) U= Uyl & Swv difere -

Sciigl @1 a8 - ar oWl
o T &1 713 Sl & UK (B9R 1)
4TUWH | 7UUH | 3280d | 35T | 550 TEH

2015 | 75 | 144 | 114 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2010 | 90 75 135 75 90
2020 | 105 | &0 165 45 120
2021 | 115 | 85 160 100 145

2015 ®1 goiAT H 2021 9 55 U UG 92! B faml J e uiowd ais s i 2

1.28%
2.31%
3.33%
4.34%

[Question ID = 4374][Question Description = 101_81_GP6_SEP22_S2_Q01]
1. 1 [Option ID = 17493]
2. 2 [Option ID = 17494]
3. 3 [Option ID = 17495]



| 4. 4 [Option ID = 17496]

2)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a

company during the years 2015 te 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scld (in thousands)
4AH TAH 32AH 354H 55AH

2015 (75 144 114 102 108
2016 |90 126 102 a4 126
2017 D6 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 i3 S0
2020 105 &0 165 45 120
2021 115 85 160 100 145

The total sales of all the seven years is maximum for which type of battery?

T.44AH
2. TAH
3. 32AH
4. 35AH

afeRaa arfeer § 99 2015 § 2021 9@ & SRIH T DUAT gRT G DI T8 [AIHA WPR DI el
@R ®) & 9! - sriws feu e &1 59 aifersT & siivs! & YR W Uik w4l & Iux S

=gl ot 9 - ar fEwl
- 91 | 715 920l & UPK (F9R 5)
AUTH | 700 3200|3500 | 5500
2015 75 144 114 102 108
2016 90 126 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 a0
2020 105 a0 165 45 120
2021 115 85 160 100 145

i O a1 | o0 UeR @1 S 91 oo faw] gana® U 7

1.4CHd
2. 7004
3,320
435009

[Question ID = 4375][Question Description = 102_81_GP6_SEP22_S2_Q02]
1. 1 [Option ID = 17497]
2. 2 [Option ID = 17498]



3. 3[Option ID = 17499]
4. 4 [Option ID = 17500]

3)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures af five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Goar Types Of Batteries Scld (in thousands)
4AH TAH 3ZAH 35AH 55AH

2015 |75 144 114 102 108
2016 (90 126 102 a4 126
2017 156 114 75 105 135
2018  |105 30 150 90 75
2012 190 75 135 75 a0
2020 |105 60 165 45 120
2021 115 85 180 100 145

What is the difference in the number of 35AH batteriesseld in 2016 and 20207

1..24000
2..28000
3. 35000
4.38000

FafeRas aferer & a9 2015 & 2021 90 & RIE TH DUAT gRT G0 D T8 [QIHT TPR T qchal
(@R ®) & 3t - aws fAw v &1 53 aiftreT & siws! & YR W U= Uyl & SR difere -

eyl @ 99 - ar 61 :
= fashl @1 713 S2l & JBR (F9R )
40U | 7UTH | 3200 | 35U UG | 55 UTH

2005 | 75 | 144 | 114 | 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 | 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 | 75 135 75 a0
2020 | 105 | 60 165 45 120
2021 | 115 | 85 160 | 100 145

¥ 2016 3R 2020 7 35 U TH A=feT @ fas g S W AR E

1. 24000
2.28000
3.35000
4.39000

[Question ID = 4376][Question Description = 103_81_GP6_SEP22_S2_Q03]
1. 1 [Option ID = 17501]



2. 2 [Option ID = 17502]
3. 3 [Option ID = 17503]
| 4. 4 [Option ID = 17504]

4)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Genr Types Of Batteries Sold (in thousands)
4AH TAH 3ZAH 35AH 55AH

2015 |75 144 114 102 108
2016 (B0 126 102 24 126
2017 196 114 75 105 135
2018 |105 30 150 90 75
2019 |90 73 135 75 a0
2020 |105 60 165 45 120
2021 115 85 180 100 145

The percentage of 4AH batteries sold in a given year to the total number of batteries sold in that same
year was maximum in the yearn

1.2017
2.2018
3.2019
42020

fFafefag arferer & ad 2015 | 2021 96 & R TP DUt g1 At @t 78 fAfud yer @t el
@9R ®) ¥ 9! - s fRu e &1 53 aiferer & sies! & MyR W = vyl & IO S

gzivyf @l 9 - ar 6 :

] &1 715 Scidl & UK (89K 1)
AUW (7YY | 320 Ud | 350U (550
2015 | 75 | 144 | 114 102 108

a

2016 a0 126 102 a4 126
2017 56 114 75 105 135
2018 105 20 150 a0 75
2019 g0 15 135 Ta a0
2020 105 &0 165 45 120

2021 115 85 160 100 145

ol few e ad & Qi @ 5! @) oo ve & oy 9dl ay a1 &1 711 4 T Tg sl @ uiowe e
ay 3 41 7

1.2017
2.2018
3.2018

4.2020



[Question ID = 4377][Question Description = 104_81_GP6_SEP22_S2_Q04]
1. 1 [Option ID = 17505]
2. 2 [Option ID = 17506]
3. 3 [Option ID = 17507]
| 4. 4[Option ID = 17508]

5)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 te 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scld (in thousands)
4AH TAH 32AH 354H 55AH

2015 (75 144 114 102 108
2016 |90 126 102 a4 126
2017 D6 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 75 S0
2020 105 &0 165 45 120
2021  |115 85 160 100 145

In case of which type of battery there was a continuous decrease in sales from 2015 to 20207

1. 4AH
2. TAH
3.32AH
4. 358H



afeRaa arfeer § 99 2015 § 2021 9@ & SRIH T DUAT gRT G DI T8 [AIHA WPR DI el
@R ®) & 9! - sriws feu e &1 59 aifersT & siivs! & YR W Uik w4l & Iux S

=gl ot 9 - ar fEwl
- 991 ®1 5 92l & oK (goR )
AUTH | 700 3200|3500 | 5500
2015 75 144 114 102 108
2016 90 126 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 a0
2020 105 a0 165 45 120
2021 115 85 160 100 145

ad 2015 ¥ 2020 9@ 5 UHR B 9o @ {9t & ¥y fge gt 7

1.4TTT
2.70%F

3.32U0Ug
435004

[Question ID = 4378][Question Description = 105_81_GP6_SEP22_S2_QO05]
1. 1 [Option ID = 17509]
2. 2 [Option ID = 17510]
3. 3 [Option ID = 17511]
4. 4[Option ID = 17512]

Topic:- 22 GP_29SEPT22_SH1_S2_B

1)

Which scheme of Ministry of Education, Government of India, uses Artificial Intelligence to make learming
more personalised and customised, as per requirements of the learners?

1. NEAT
2. NEET
3, SWAYAM
4, SWAYAN PRABHA

Tnen HETeE, YRd WeR @ BH U1 dieq REfil St aravnsasd & SuR A o sfte sude
IR Ferdf sga s & fow o Sfer o e 8 7

1.EIg LA

207gsd

3, GH (SWAYAM )

4 IG4H UH] (SWAYAMPRABHA)

[Question ID = 4379][Question Description = 106_81_GP6_SEP22_S2_Q06]
R [Option ID = 17513]

2. 2 [Option ID = 17514]

3. 3 [Option ID = 17515]

4. 4 [Option ID = 17516]



2)
Upon completion of academic programmes (Graduation), what outcomes should the students have

attained?

1. Programme Education Objectives/ Programme oufcomes
2, Lesson outcomes

3. Course guicomes

4, Unit/Chapter outcomies

SPET® SHpH! (W) & I & W, faenfial w1 @ ufos ua g 91te 7

2. 913 UiRoms
3. UTauwH 9RO
4, gy s Ui

[Question ID = 4380][Question Description = 107_81_GP6_SEP22_S2_QO07]
| 1. 1 [Option ID = 17517]

2. 2 [Option ID = 17518]

3. 3 [Option ID = 17519]

4. 4 [Option ID = 17520]

3)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Teachers must encourage students to ask questions.
Reason R: Asking guestions can create curiosity and develop passion far learning.
In light of the above statements, choose the most appropriate answer from the options-given below

1. Both A and R are carrect and R is the correct explanation of A

2, Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4 A is not correct but R iscorrect

g P RUTUE: 0P 3 @ (4) 3R W &1 SR (R) Fe1 ™ &
HBUA (a) : e o1 ol o v U84 & o Uieiied &A1 9ife Ul

BRI (R) ; 1% TS © formma gfor il & iR AT & forg e o iad gl g
S @Al 3 sichie & Rafed R 3 T e awad:

1..(4) 3R (R) G TE1 € 3R (R), (4) P Tl AT R

2. (A) 3R (R) GHT W61 € R (R), (A) Pl Hel oIReT el 5
3. (A) Hel 8 URg (R) el 761 B

4, (A) T 981 & UG (R) §R1 B

[Question ID = 4381][Question Description = 108_81_GP6_SEP22_S2_Q08]
" 1. 1 [Option ID = 17521]

2. 2 [Option ID = 17522]

3. 3 [Option ID = 17523]

4. 4 [Option ID = 17524]



4)
Which of the following miodel is used for development of e-content for MOOCs on SWAYAM?

1. Four Quadrant
2. Two Quadrant
3, Flipped Classraom
4, Bloom's Taxonomy

TEUH (SWAYAM) OT 58 (MOOCs) & [0 S-1q9gasd & (9@ & 8 F¥ H d [od Hisa oI uai eldl 8 7

2390
3, [heres e
4, TH ®I G fag

[Question ID = 4382][Question Description = 109_81_GP6_SEP22_S2_Q09]
1. 1 [Option ID = 17525]
2. 2 [Option ID = 17526]
3. 3 [Option ID = 17527]
4. 4 [Option ID = 17528]

5)
In erder to develop a video for MOOC, how much portion of some copyrighted video is allowed to be

used as per the fair use guidelines?

1. Upto 10%:or 10 minutes, whichever is less,
2, Upto 10% or 3 minutes, whichever is less,
3, Upto 20% or 10 minutes, whichever is less,
4, Upto 30% or 3 minutes, whichever is less,

& (MOOC) & foe ®15 difsdl &9 & o, 3faa v feenfass & uR, B ufafoanfieia difsar
% o BT &1 UEW o3 @ SR & 7

1. 10% %, 1 10 F7e, i1 +f1 & 811

2.10% %, T 3 fiFe, & S wa A1)

3.20% 9%, 91 10 e, s ST FH 81

4.30% 9%, 11 3 e, w i sm g

[Question ID = 4383][Question Description = 110_81_GP6_SEP22_S2_Q10]
1. 1 [Option ID = 17529]
2. 2 [Option ID = 17530]
3. 3 [Option ID = 17531]
4. 4 [Option ID = 17532]

6)
When the subjects of a research change or improve their behaviour, not due to changes in experimental

stimulus, it is called

1. The Hawthorne effect
2. The Glenin effect

3, The Fischer effect

4, The Kerlinger effect



e et 31y & Taud! % ogaeR & a9 QUR WEEE SEIe] § uRkad- & oRY T8 e 8, af 9
el Sl & -

2,75 UdE
3, fPER UyIE
4, PRI UHId

[Question ID = 4384][Question Description = 111_81_GP6_SEP22_S2_Q11]
| 1. 1 [Option ID = 17533]

2. 2 [Option ID = 17534]

3. 3 [Option ID = 17535]

4. 4 [Option ID = 17536]

7)
The advantages of research based on field experiments are:

A, A strong external validity

B. Subiecis behave normally and naturally.

C. The experiment takes place in a natural setting.

D. Generation of primary data

E. Non-requirement of elaborate logistics

Choose the correct answer from the options given below;

1.4 Band Conly
2.B, Cand D only
3,C Dand Eonly
4 A CandEanly

& T WERT R TN Y & A -

A, TS USe del 9Y |

8. fawg 9mg 3fR WHIfe® ¥ § 98N &% o
C. T UTgia® e | Bl 8l

D. UHiH® Hiws| @l go- |

E, forga HR-0F @1 Saxgedl T8l eidl|

Je feu T e F A W I

1.@aAA, B ARC
2.%ad e, CARD
3. HadC, D ARE
4, FAAA CARE

[Question ID = 4385][Question Description = 112_81_GP6_SEP22_S2_Q12]
1. 1 [Option ID = 17537]
| 2. 2 [Option ID = 17538]
3. 3 [Option ID = 17539]
4. 4 [Option ID = 17540]



8)
Hypothesis, that is alternative to null hypothesis, is represented as

1
2
3. Ha
4

URed, S Y9 UReedAl & [9hed &, @] G191 9l &

1. Hp
2.4
3. Han
4. Hzp

[Question ID = 4386][Question Description = 113_81_GP6_SEP22_S2_Q13]
1. 1 [Option ID = 17541]
2. 2 [Option ID = 17542]
3. 3 [Option ID = 17543]
4. 4 [Option ID = 17544]

9)
What is SCOPUS?

1. Software to prepare Ph.D thesis

2, Database containing abstracis and citations of academic journals
3, Agency to fund research and development

4, Plagiarism checking software

THI9H (SCOPUS) T &8 7
1, tﬁ@:a‘? Qﬂﬂaﬂﬁmaﬂﬂfﬁrﬂmﬂm |

3wmﬁmmwmmmmmmmﬁ'
4, AIETEO® IR ] S i arel Sueaay

[Question ID = 4387][Question Description = 114_81_GP6_SEP22_S2_Q14]
1. 1 [Option ID = 17545]
2. 2 [Option ID = 17546]
3. 3 [Option ID = 17547]
4. 4 [Option ID = 17548]

10)
The Social Science research which is data-based, has been asscociated with

1. Authoritarian mode
2, Positivist philosophy
3, Network theory

4, Ph&nomenolqu



gg gHIee o 91y, S iesl-Yid sl g, Ruiad 48 & -

1. G OEid
4, T2gUeH] oy

[Question ID = 4388][Question Description = 115_81_GP6_SEP22_S2_Q15]
1. 1 [Option ID = 17549]
2. 2 [Option ID = 17550]
3. 3 [Option ID = 17551]
4. 4 [Option ID = 17552]

11)
The modern-communication revolution is propelled by

1. Cold war propaganda

2. International commerce

3, Techniological convergence
4, Change in political systems

YA Ty i s g1 JaRa g 2
1, 2 9= @1 wideret
4, TS FoE H 9iiacd

[Question ID = 4389][Question Description = 116_81_GP6_SEP22_S2_Q16]
1. 1 [Option ID = 17553]
2. 2 [Option ID = 17554]
3. 3 [Option ID = 17555]
4. 4 [Option ID = 17556]

12)
Effective classroom communication will enable

A, Efficient teaching

B. Interest in learning

C. Minimal assessment

D. Interaction between teachers and students

E. Teacher-centric behaviour

Choose the correct answer from the options given below:

1.4 Band C only
2.B,C, DandE only
3.C, Dand Eonly
4, A BandDonly



A H UHTE] TR [HEE HEH B ;
A, YT ST

8. Urg- H 3l

C. 3feqdd Hedia

D. TRrarnt <R faenivhal & di 2=g1=g f9eam
E. HLI®- Higd S9a8R

e fou e fawed! 7 4 W1 S T ;

1.FAAA, B AR C
2.9 E,C, DIARE
3. 3aAC, D AR E
4,59 A, B AR D

[Question ID = 4390][Question Description = 117_81_GP6_SEP22_S2_Q17]
1. 1 [Option ID = 17557]
2. 2 [Option ID = 17558]
3. 3 [Option ID = 17559]
4. 4 [Option ID = 17560]

13)
Which of the fallowing are barriers to understand the communicated messages?

A. Emotional guotient

B. Jargon

C. Persanal space

D. Pre-judgemient

E. Cultural background

Choose the correct answer from the options given below;

A, Band Conly
.B, D and E only
.C, D and E anly
.B, Cand D only

S % 5 I L W



FTeTE J 9 B § TR 563 ® §HEE J HEYS &
A, TagTere -l
B. 3IE
C. dafa® =
D. ga-oig
E. Hipla® JEYH
e fou e fawed! 7 4 W1 S T ;
1,390 A, B 3R C
2. %998, D3R E

3, HIAC, D IARE
4, Had B, C 3R D

[Question ID = 4391][Question Description = 118_81_GP6_SEP22_S2_Q18]
1. 1 [Option ID = 17561]
2. 2 [Option ID = 17562]
3. 3 [Option ID = 17563]
4. 4 [Option ID = 17564]

14)
Given below are two statements

Statement I: Knowledge is a form of cultural capital for all practical purposes,
Statement II: Communication media make cultural capital a form of illimitable property.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect
3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct

e RUTEE:

Y - | §F9 o sraeTie UaieH| & O Oisia® gol &1 U 9 8l

Y - || : TN HSy, YEeiam el ] U6 WeR $1 it grdid 5 8
UL HYH| & ATID | e 9ol H ¥ Hel 3w g

1.9 | R 1 ST TR R
2. FYA | AR 1 EF TEd B |
3. P | W) &, g @y I Taa Bl
4, YT 1 T4 & , fooq ®YA 1| GEl B

[Question ID = 4392][Question Description = 119_81_GP6_SEP22_S2_Q19]
1. 1 [Option ID = 17565]
2. 2 [Option ID = 17566]
3. 3 [Option ID = 17567]
4. 4 [Option ID = 17568]



15)
Match List | with List Il

List |

List I

Concept of presentation

Characteristic

A, Text

|. Order of signification

B. Discourse

Il, Subjective invention

C. Connctation

Ill. Micro data

D. Myth

IV. Macro exchange

Choose the carrect answer frem the options given below:

TA-LB-1LC= LD~V
ZA-ILB=lLC=-IV, B~
SA-ILB-MC-LD-1
4A-NB-LC-1L,B=N

! -1 I T -1 H AT BT

EE

BESRIEE g R EHIE)

A, TS I. AR@IB 0l BT B
B, st 11, STH-TE I

C. oY I1l. BIShI-SeT

D. fHy® V. S8 3MaH-HarH
A feu e faed! # ¥ W8l ST g

T.A-|,B-IlLC=IIl, D-IV
2Z2A -1 BN E- 1Y, B=
LAANLB-IV,C-lL D=1l
4A -V B-|,C-1l, D=

[Question ID = 4393][Question Description = 120_81_GP6_SEP22_S2_Q20]

1. 1 [Option ID = 17569]
2. 2 [Option ID = 17570]
3. 3 [Option ID = 17571]
4. 4 [Option ID = 17572]




16)
Choose the set of numbers, similar to the set (31, 19, 41) out of the following:

A, (27, 29, 47)
B.[23; 34, 45)
C. (29, 16, 41)
D. (29, 17,37)
E, (23, 37, 49)
Choose the correct answer from the options given below:;

1.4, Cand Eonly
2.A and B only
3,B and D only
4, D only

fafoiad 9= 3 § 9990 (31,19.41) & 99F YBT3 & 99=4 @) g4 -
A. (27, 29, 47)

B.(23, 34, 49)
C. (29, 16, 47)
D. (29, 17,37)
E. (23, 37, 49)
I fou ¢ fased & 4 W) SR g

1.Faa A CHRE
2, FaAA ANB
3, FAA B ARD
4, 5G9 D

[Question ID = 4394][Question Description = 121_81_GP6_SEP22_S2_Q21]
1. 1 [Option ID = 17573]
2. 2 [Option ID = 17574]
3. 3 [Option ID = 17575]
| 4. 4 [Option ID = 17576]



17)
Uniscramble the strings below to treate a meaningful word and then find the odd one out:

A, EIWNTR

B. UMRSME

C. PIGRSN

D. LCUQD

Cheose the correct answer from the options given below;

1. A only
2.B only
3. C only
4. Donly

T f5u 710 47 @1 56 USR e fa el e 84 aul aguRid 1999 @ gé -
A EIWNTR

B. UMRSME

C. PIGRSN

0. LCUOD

e fu e fowed! 9 4 W S T ;

1. Fad A
2, FadE
3,HaA C
4.%awD

[Question ID = 4395][Question Description = 122_81_GP6_SEP22_S2_Q22]
1. 1 [Option ID = 17577]
2. 2 [Option ID = 17578]
3. 3 [Option ID = 17579]
| 4. 4 [Option ID = 17580]

18)
What shall be the value when 0.07 is divided by 3507

1..0.0002
2.0.002
3.0.02

4, 0.00002

F@ 0,07 BT 250 § YT {631 S0 1 91 5 Ui 81 7
1.00002
2.0.002

3.0.02
4 0.00002



[Question ID = 4396][Question Description = 123_81_GP6_SEP22_S2_Q23]

1. 1 [Option ID = 17581]
2. 2 [Option ID = 17582]
3. 3 [Option ID = 17583]
4. 4 [Option ID = 17584]

19)
Six persons wernt to a hotel for a dinner, Five of them spent Rs 150 each on their meals, while the sixth

person spent Rs 80 more than the average expenditure of all the six persons. What is the total money

spent by all the six persons?

1.9%06
2,959
3.1000
4,7001

BE @ U HieH & [T glew § oid &) S99 Ui ofgadl § 9§ UG 309 Hied WX 1150 T4 5l B
Tl Sol diad 941 9 diaaal & 9 9 9 380 9 94 o3l 8| 94 98 il grl & foa

Y U Ed &1 7S 7

1,399
2.3999
3.% 1000
4,3 1001

[Question ID = 4397][Question Description = 124_81_GP6_SEP22_S2_Q24]
' 1. 1 [Option ID = 17585]

2. 2 [Option ID = 17586]

3. 3 [Option ID = 17587]

4. 4 [Option ID = 17588]

20)
The selling price of 30 fans is egual to the purchase price of 25 fans. What is the profit or loss in

percentage?

1. A gain of 152%
2.4 loss of 15%
3. A loss of 152%

4. No gain, no loss

30 Ul 1 faeh] Hed 25 UGl o W16 Hed o &X0ak o | i Sl gl wiowe o fsa-l & 2

1. 152% Nl
2.15% BT

3. 15%%%
4.1, T Y

[Question ID = 4398][Question Description = 125_81_GP6_SEP22_S2_Q25]
1. 1 [Option ID = 17589]
2. 2 [Option ID = 17590]
‘ 3. 3 [Option ID = 17591]
4. 4 [Option ID = 17592]



20 In Classical Square of Oppositien, if ‘Some S is P’ is given as true then which of the following could be
immediately inferred from it?
A, 'Some S is not P’ is false
B.'Some S is not P istrue
C.'No Sis P'is false
D."All S is°P' is'undetermined
E. 'Some S is not P'is undetermined

Choose the correct answer from the options given below,

1.4 Cand D only
2,C, Dand E only
3.B, Cand D only
4 B and Conly

faRisll & AR aqye § TS S, PR £, B Uia Wal A AT Tl Al 9 H ¥ feue! s F9 W A
e o e © 7

A BES PR e, Tad 8

B. WSS Pel 6, 9H &

C.®Ig S, PRI &, TTod &

D. s, P, feifa s

E B S, PAEl 8, UG 8

i g e faded! 5 & 981 9ok 4 -

1.®adA, CHRD
3, HAT B, C 3R D
4 FIAR ARC

[Question ID = 4399][Question Description = 126_81_GP6_SEP22_S2_Q26]
1. 1 [Option ID = 17593]
2. 2 [Option ID = 17594]
3. 3 [Option ID = 17595]
4. 4 [Option ID = 17596]



22)
A fallacy in which the conclusion is stated or assumed within one of the premises is known severally as:

A, Petitio Principil

B. Irrelevant Conclusion

C. Begging the Question

D. Fallacy of Compeosition

E, Circular argument

Choose the correct answer from the options given below:;

1.4, D and E anly
2.Cand Donly

3,B, Cand Eonly
4 A CandEonly

@3 av oy (ool (5aY @] U YR 999 & ¥4 & Adifq @iied oa) 7 & ud 9F 741 8 39
faftrs vl © F g I &

A, fafeRRm i

B, HUTHT® ey
C. AT TN

D. T B G6-21
E, gd G

1.3aAA, D IARE
2, HFAC IRD

3, &ad B, CARE
4. %am A, CHRE

[Question ID = 4400][Question Description = 127_81_GP6_SEP22_S2_Q27]
1. 1 [Option ID = 17597]
2. 2 [Option ID = 17598]
3. 3 [Option ID = 17599]
| 4. 4 [Option ID = 17600]

23)
Analogical Arguments are:

1. Deductive in nature

2, Inductive in nature

3. Valid arguments but fallacious
4 Invalid arguments



TS O §

1. S 9P w9
4. ¥ b

[Question ID = 4401][Question Description = 128_81_GP6_SEP22_S2_Q28]
1. 1 [Option ID = 17601]
2. 2 [Option ID = 17602]
3. 3 [Option ID = 17603]
4. 4 [Option ID = 17604]

24)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Bssertion A: According to Classical Indian School of Logic (Nyaya), it is desirable but net necessary to
offer an example in a syllogistic argument or inference.

Reason R: Example shows that there is at least one existent object or case in the world in which the

middle and major terms co-exist.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2, Bath A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

I gl @yF U 8 : Um @) @Y (A) 3R gOL &I o (R) Tl '’ 8l

HYHY (A) : ARG HRA 1 Hd @ YR [BEl A41g Giag SUdl S9HH @1 3aed 6] dig-1d &,
IELEECIUEC]

@RI (R) ; 3GIEN0 U8 S © (@ oF ¥ ®F U SRaad ot 41 giaie Rl Aieg § f9ad 99 ug
3R UHE T F5 fagEE B

ST Sy & e & R Rowd § @ el e
1..(A) 3R (R) ST el € R (R), (A) BT Tel AT &
2. (A) 3R (R) G W61 © IR (R), (&) B Wel RS el 8

3. (A) WEl € T (R) Wel T2 6
4, (A) W51 781 & 0 (R) WRT 1

[Question ID = 4402][Question Description = 129_81_GP6_SEP22_S2_Q29]
1. 1 [Option ID = 17605]
2. 2 [Option ID = 17606]
3. 3 [Option ID = 17607]
‘ 4. 4 [Option ID = 17608]



25)

An American is told by his friend that Asian buffalo is like bison in such and such respects. When the
American visits Asia and comes across a buffalo, he comes 1o know that the animal seen by him is buffale.

Which of the following means of knewledge (pramana) is used in this instance?

1. Postulation (Arthapatti)
2, Comparison (Upamana)
3. Perception (Pratyaksa)

4, Verbal Testimany (Sabda)

UE P B 39m 194 g ad] 7] [ Ue CRIEE 99 39 3% 37 95Ul § 91594 (BISON) &) o8 gl
21 99 39 JEfT 3§ U @ uE @1 SR 96 99 & 9RE 1 o 99 4 Ual 9al ik 9 forg wii @1
%), g Hg t| Fefoiag 3 € 59 3 91 (0E) B 550910 996 a1 39 994 fhar T ?

1. ufosl
3, s
4 Jleg

[Question ID = 4403][Question Description = 130_81_GP6_SEP22_S2_Q30]
1. 1 [Option ID = 17609]
2. 2 [Option ID = 17610]
3. 3 [Option ID = 17611]
4. 4 [Option ID = 17612]

26)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Static RAM is typically used for PC's main memaory while Dynamic RAM is used for CPU

cache.
Reason R: Static RAM is faster and more expensive than Dynamic:RAM.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the carrect explanation of A
3, A'is true but R is false

4, Ais false but R is true

i al @yH [GUTE 8 : U @ <@y (A) 3R G- @I DRI (R) Hel I gl

AP (4) ; ®ies 1 & fafte w9 € 9 6 & &1 37 899 & fou fem o @ wefe st
pa=ie: |1 Q20 G AR st D B BT A

TRO (R) : LD I "SEANE 0 B goml J P oo R Teri il g1
e DY P AP d FEfed faeed H U TE SR 9

1. (A) 3R (R) TFT 9 & R (R), (A) 1 961 AT 81

2. (A) 3R (R) GH ¥ € T3 (R), (A) BT Hel el 81 &
3. (A) T E U (R) A E|

4. (A) HFEE T A (R) TAE

[Question ID = 4404][Question Description = 131_81_GP6_SEP22_S2_Q31]



1 [Option ID = 17613]
2 [Option ID = 17614]
3 [Option ID = 17615]
4 [Option ID = 17616]

B w N =

27)
With respect to the Computers, what is the purpose of compressing a data file?

1. To encrypt the data

2. To occupy less storage space

3, To increase transmission time aver a network

4, To allow the file to be read by a variety of applications

e & UgY H U Sicl Bigd @] $5IY & & F 354 sidl & 7

1. ST P T=PY S & (a8

TR T B

3. U® ea® U CIaHINH elgH H dis ®i- @ [ae

4, T% 15T @] 114 SIWENT G U6 5 & (08 AT ol

[Question ID = 4405][Question Description = 132_81_GP6_SEP22_S2_Q32]
1. 1 [Option ID = 17617]
| 2. 2 [Option ID = 17618]
3. 3 [Option ID = 17619]
4. 4 [Option ID = 17620]

28)
Which of the following peripheral devices are considered as only input devices?

A, Microphane

B. Projector

C. loy Stick

D. Scanner

E, Track-ball

Choose the correct answer from the options given below;

1.4, C DandE only
2 A B DandE only
3,B,C, Dand E only
4 A B CandDonly



FTeTE TR [SaEds H € 6% oan 399¢ [Sasey JH ol 6 7
A ARHHBH

B. HISieey

C.9ig e

D. &P

L @A

74 T4 7 f9eped] 5 & Wel STR 4 ;

1. 590 A, C, DN E
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[Question ID = 4406][Question Description = 133_81_GP6_SEP22_S2_Q33]
1. 1 [Option ID = 17621]
2. 2 [Option ID = 17622]
3. 3 [Option ID = 17623]
4. 4 [Option ID = 17624]

29)
A Company's word-processed daily repert contains a graph from a spreadsheet. The report needs to

display the maost recent information from the spreadsheet, What feature should be used to insert the
most up-to-date graph?

1. Copy and paste

2, Mail merge wizard

3. Automated importing
4 Linking and embedding
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[Question ID = 4407][Question Description = 134_81_GP6_SEP22_S2_Q34]
1. 1 [Option ID = 17625]
2. 2 [Option ID = 17626]
3. 3 [Option ID = 17627]
| 4. 4 [Option ID = 17628]



30)
Which type of virus or destructive software could appear t¢ be useful, but will actually cause damage

once installed or run by a user?

1. Hoax

2, Worm

3. Trojan Horse
4, System Sector
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[Question ID = 4408][Question Description = 135_81_GP6_SEP22_S2_Q35]
1. 1 [Option ID = 17629]
2. 2 [Option ID = 17630]
' 3. 3 [Option ID = 17631]
4. 4 [Option ID = 17632]

31)
According to Neise Pollution (Regulation and Centrol) Rules in India, noise (Lsg) in educational institutions

during night time (10pm-6am) must not excesd

1.35 dB
2.40dB
3.45dB
4, 50dB
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[Question ID = 4409][Question Description = 136_81_GP6_SEP22_S2_Q36]
1. 1 [Option ID = 17633]
| 2. 2 [Option ID = 17634]
3. 3 [Option ID = 17635]
4. 4 [Option ID = 17636]

32)
The percentage increase in carbon dioxide concentration in atmosphere from pre-industrial

times is approximately

1.55 %
2,.50%
3.74 %
4.62%
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[Question ID = 4410][Question Description = 137_81_GP6_SEP22_S2_Q37]
1. 1 [Option ID = 17637]
2. 2 [Option ID = 17638]
3. 3 [Option ID = 17639]
4. 4 [Option ID = 17640]

33)
The highest nonzero dose at which ne toxic effect is observed in a study on animals is called

LDsg

. NOAEL
. LOAEL
. NOEFF
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[Question ID = 4411][Question Description = 138_81_GP6_SEP22_S2_Q38]
1. 1 [Option ID = 17641]
2. 2 [Option ID = 17642]
3. 3 [Option ID = 17643]
4. 4 [Option ID = 17644]

34)
Given below are two statements, one is labelled as Assertion A and the other is labelled a5 Reason R

Assertion A: Hybrid Electric Vehicles' (HEVs) fuel running cost is lesser than Electric:Vehicles (EVs],

Reason R: Hybrid Eleciric Vehicles have beth an intemal combustion engine and an enboard electric

power generation system.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A'is correct but R is not correct

4, A is not correct but R is correct
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[Question ID = 4412][Question Description = 139_81_GP6_SEP22_S2_Q39]
1. 1 [Option ID = 17645]
2. 2 [Option ID = 17646]
3. 3 [Option ID = 17647]
‘ 4. 4 [Option ID = 17648]

) What is the correct chronological order of sequence from oclder to newer of the folloewing agreement,
summit and protocaols?
A, Paris Agreement
B. Montreal Protocol
C. Kyoto Protocol
D. Rig Summit

Choose the correct answer from the options given below

1.A,BCD
2B DCA
3.ACDE
48 C DA
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[Question ID = 4413][Question Description = 140_81_GP6_SEP22_S2_Q40]
1. 1 [Option ID = 17649]



2. 2 [Option ID = 17650]
3. 3 [Option ID = 17651]
4. 4 [Option ID = 17652]

36)
Which of the following universities is an Institute of Eminence?

1. Central University of Gujrat. Gandhinagar
2, University of Hyderabad

3. Tezpur University

4, Jamia Millia Islamia
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[Question ID = 4414][Question Description = 141_81_GP6_SEP22_S2_Q41]
1. 1 [Option ID = 17653]
2. 2 [Option ID = 17654]
3. 3 [Option ID = 17655]
4. 4 [Option ID = 17656]

37)
Given below are two statements

Statement I: With Academic Bank of Credit facility in place, a student will be able to customize and
design own degree, provided 50% of credit are from the higher education institutions awarding the

degree.

Statement |I: Credits once used or redeemed by a student cannot be used for any other formal purpose

Or course wavers.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect

3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct
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[Question ID = 4415][Question Description = 142_81_GP6_SEP22_S2_Q42]
1. 1 [Option ID = 17657]
2. 2 [Option ID = 17658]
3. 3 [Option ID = 17659]
4. 4 [Option ID = 17660]

38)
In a State government university or Central University, recommendation of the Selection Committee for

the recruitment of the faculty is approved by the

1. Academic Council

2, Executive Council

3, Finance Committee

4. Chancellor of University
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[Question ID = 4416][Question Description = 143_81_GP6_SEP22_S2_Q43]
1. 1 [Option ID = 17661]
2. 2 [Option ID = 17662]
3. 3 [Option ID = 17663]
4. 4 [Option ID = 17664]



39)
Environmental education encempasses the issues of

A, Resource Consumption

B. Environmental degradation

C. Biodiversity loss

D. Economic empowerment

E, Climate change and its impact

Choose the correct answer from the options given below;

1.4, B, Cand Donly
2.A B CandEonly
3,B, C, D and E only
4 B and Eonly
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[Question ID = 4417][Question Description = 144_81_GP6_SEP22_S2_Q44]
1. 1 [Option ID = 17665]
2. 2 [Option ID = 17666]
3. 3 [Option ID = 17667]
4. 4 [Option ID = 17668]



40)
Given below are two statements

Statement |: The recommendations of the Radhakrishnan Commission in 1949 resemble those of
Calcutta University Commission in 1917,

Statement Il The recommendations of the Mudaliar Commission in 1953 resemble those of John
Sergent's post-war Educational Development Plan in 1944,

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2, Both Statement | and Statement |l are incorrect

3, Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct
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[Question ID = 4418][Question Description = 145_81_GP6_SEP22_S2_Q45]
1. 1 [Option ID = 17669]
2. 2 [Option ID = 17670]
3. 3 [Option ID = 17671]
4. 4 [Option ID = 17672]

Topic:- 22 GP_29SEPT22_SH1_52_C



1)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from a-single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are paossible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another {Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emotional faculties needed
to promote social cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodal cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The shared biological nature of humans influences

1. The division of sodial constructs

2. The nature of institutions in seciety
3. The political behaviour of people
4, The formation of social groups
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[Question ID = 4419][Question Description = 146_81_GP6_SEP22_S2_Q46]
1. 1 [Option ID = 17673]
2. 2[Option ID = 17674]
3. 3 [Option ID = 17675]
4. 4 [Option ID = 17676]




2)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

Human beings did not exist in a pre-social state due to

1. Social kinsfolk

2, Human pelitics across cultures:

3. Institutional limitations

4, Absence of individual independence
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[Question ID = 4420][Question Description = 147_81_GP6_SEP22_S2_Q47]
1. 1 [Option ID = 17677]
2. 2 [Option ID = 17678]
3. 3 [Option ID = 17679]
4. 4 [Option ID = 17680]



3)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

From the author's point of view, the main characteristic of human society has been

1. Anarchic violence

2. Pacific ignorance of ane another
3. Kinship based sedial groups

4. Calculated individual relations
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[Question ID = 4421][Question Description = 148_81_GP6_SEP22_S2_Q48]
1. 1 [Option ID = 17681]
2. 2 [Option ID = 17682]
| 3. 3 [Option ID = 17683]
4. 4 [Option ID = 17684]




4)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The concept of social cooperation involves
A Kin selection

B. Cognitive faculty

C. Emotional detachment

D. Reciprocal altruism

Choose the correct option:

1.4 and B only
2.B and Conly
3.Cand D only
4.4 and D only
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5)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The passage recognises-the fact that human sociability has

1. Pelitical determinants

2. Rational cheice model

3. Integrated cellective action
4. Genetic linkage
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